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Register No.

_ H 1488 HVA/HBAA/HA1A/HB1A/HC1A/HD1A/
! : CHA1A/CHB1A/CHC1A/CHD1A

B.A.. B.L. (Hons)/BA, LL.B. (Hons)/B.Com., B.L. (Hons.)/B.Com.,
LL.B. (Hons.)/B.B.A,, LL.B. (Hons.)/B.C.A., LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

[ = _S_  _ S )
(For the candidates admitted from 2011 to 2017)
First Year — First Semester
ENGLISH - I

Time : 21 hours o Maximum : 70 marks

i PART A — (2 x 10 = 20 marks)

1. Answer TWO of the following in about 500 words each.
(a) Analyse Francis Bacon’s views on truth.

() Explain the important aspects of Anna’s maiden speech in the

Parliament.
! () Discuss the best methods for studying law.
PART B — (5 x 3 = 15 marks)
2.  Annotate FIVE of the following :

(a) The only freedom which deserves the nanie is that of pursuing our

oy own good in our own way.

| (b) That Government is best which governé least.
(g am proud to call myself a Dravidian.

(d) 7 A mixture of lie doth ever add pleasure.

(e) We are met on a great battle field of that war.

=,

() Have by some surgeon, Shylock, on your charge.

() No one can be a truly competent lawyer unless he is a cultivated ' i

‘ man.

P.T.0.]
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PART C — (20 marks)
LINGUISTICS - (2 x 5 = 10 marks)

"Answer TWO of the following in about 250 words each.

(a) Viking impact on English language.
(b) Revival of English language in the medieval age.

(¢) Christian influence on English language.
PHONETICS - (10 marks)
Answér THREE of the following : B x2=86)

(a) What are speech sounds?
(b) Give the vowel classification.
(¢) Explain nasal consonants with examples.

(d) Define ‘voiceless consonants’.

Transcribe the following sentences - @2x2=4)
(a) Money does not grow on trees. :
(b) Please wait for your turn.

PART D — (15 tnarks)

GRAMMAR

Make sentences using the pairs of words given below : BGx1 =-5)
(@) Official — Officious
(b) Principal — Principle
(¢) Sea —See .
(d) Estimate — Esteem
(e) Destiny — Destination.
Frame sentences using the idioms given helow : (5 x 1 =5)

- (a) Hands in glove

(b} To put on airs

(¢) Toturn over a new leaf

(d) Without reserve

(e) To turn a deafear to




8. Give synonyms for the words given below : @2x41=1)

(a) Famous

(b) Liberty

9. (ve antonyms for the words given below : 2x$=1)
(a) Truth
(b) Enemy.

10. Form words using prefix or suffix : 2xi=1)
(a) ing - '
(b) un

11. Rewrite the séntences : 2x1=2)

L () “Krishna write legibly” said the teacher. (into indirect)

(b) The preacher asked the people to close their eyes and meditate.
(into direct)

:




Register No.

H 1489 HVB/HA1B/CHAIB

B.A., B.L. (Hons.)/B.A., LL.B (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2017)
First Year — First Semester
HISTORY -1 (IIVB) - B.A,, B.L.. (HONS.)
HISTORY (HAIBICI—IAIB) -B.A,, LL.B. (HONS.)
Time : 2% hours : . Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each!

1. Analyse the causes for the emergence of Jainism and Buddhism and
their impact on the society.

2.  Elucidate the socio-political aspects of the imperial Cholas.
3.  Critically analyse the econbmic impact of:Briti_sh rule in Indi_a.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Describé social and religious life of the people during the Indus Valley
> Civilization. :

5. Examine the impact of Islam on Hindu India during the medieval
period.

6. Highlight the important aspects of Indian freedom struggle.
| PART C — (5 x 4 = 20 marks)
7.  Write .short notes on FIVE of the following :

(a) Vedas.

(b) San.gam polity.

‘(c) Gruild system.

[ @)




(d) Feudalism.
() Alwars and Nayanmars.

() Mughal art and Architecture.

(g) Self-respect movement.
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.
(a) Mother Goddess.

(b) _Dharmas-hastras.

(c) P&ﬂlava Architecture.
(d) Arthasasfhi'a.

(e) Sufism.

(f) Zamindars.

(g) Arya Samaj.

(h) Satyagiaha,
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Register No. | ‘

H 1494 5 HVH/HA1C/CHALC

B.A.B.L.(Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2017) '
B.A.B.L.(Hops.) First Year — Second Semester (HVH)
B.A.,LL.B. (Hons.) First Year — First Semester (HA1C/CHA1LC)
SOCIOLOGY — I '
Time : 2 £ hours - Maximum : 70 marks
PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.
; :
1. Define Sociology and discuss the scope of sociology.

9. Explain social control. Mention in detail the various agencies of social
control with suitable examples.

3. Discuss th_e irﬁportance and functions of v-arious social institutions.
PARTB —(2x7 ='14 marks)
Answer TWO of the following in about 300 words each.
4. Differentiate between caste and class system.
5 » Enumerate the various factors facilitating deviance.

6. Examine August Comte’s contribution to society.

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following : -
(a) Types of Sqicide.
(b) Sociology and anthropology.

(¢) Characteristics of secondary group.

(d) . Types of family.




8.

()
@

()

C.H. Cooley’s Theory of “Looking Glass Self’.
Importance of role and status.

Joking relationship.
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :-

(a)
(b)
(c)

@

(e)
(0
(g)

(h)

Social Pathology.
Community.
Social dynamics.

Private Norms.
Belief.

Anomie.
Couvade.

Bureaucracy.
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Register No.

H 1490 HVC/HBAC/HASE/HB5E/HCSE/HDSE

B.A., LL.B. (Hons.)/B.Com., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/
B.B.A., LL.B. (Hons.)/B.A., B.L. (Hons.)/B.Com., B.L. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2015)
First Year — First Semester / Third Year — Fifth Semester
LEGAL METHODS

Time : 21 hours Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words eacl’jl.

1. “Legal methods as a discipline aims at imparting epistemological
approaches, in particular the foundations of legal philosophy” — Discuss.

9 Define Precedent. Explain the significance of research oriented
judgements.

3. Compare Empirical and Non-empirical modes of legal research in the
context of societal implications.

PART B — (2 x 7= 14 marks)
> Answer TWO of the following in about 300 words each.
A.  Write an essay on the significance of law 1ibra‘ry.
5 Discuss the merits and demerits Involved in Interview Method.

6. Explain the utility of sec. 3 of the General Clauses Act, 1897.

PART C — (5 x 4 = 20 marks)
7. Write short noteg on FIVE of the following :
(a) Public and Private laws.
(b) Data collection and analysis.

(c) Definition of Human Rights.




(d) Principles of Natural Justice.
{e) Sources of International Law.
(f) Delegated legislation.

(g) Computer assisted legal research.

PART D — (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly :
(a) Utility of legal maxims.
(b) Foot notes.
(¢) Plagiarism.
(d) Legal fiction.
(e) Sampling.
(f) Hypothesis.

(g) Research manual.

(h) Secularism.
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Register No.

H 1491 HVD/HBAD/HA1D/ABID/
. HC1D/HD1D/CHA1D/CHB1D/
CHC1D/ CHD1D

B.A. B.L. (Hons.)/B.A.,LL.B. (Hons.)/B.Com.,B.L. (Hons.)/
B.Com., LL.B. (Hons.)/B.B.A,,LL.B (Hons.)/B.C.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2017)
First Year — First Semester ses
LAW OF TORTS

Time : 24 hours - Maximum : 70 marks
PART A — (2 % 12 = 24 marks)
; ¢
Answer TWO of the following in about 500 words each.

1. Examine and analyse the various general defences permissible under
the Law of Torts. :

9. Define Contributofy negligence. Differentiate it from volenti non fit
injuria. :
3 Trace out the scope of Strict Hability in Indian scenario with specific
reference to Bhopzal gas tragedy.
PART B — (2 x 7 = 14 marks)
% Answer TWO of the following in about 300 words each.
4.  Explain the liability of joint tortfeasors.
5.  Discuss gbout Nervous shock and its applicability.
8. Define and distinguish Assault and Battery.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Unliquidated damages-

(b) Rescue cases

(¢) Injunction




(d) Rylands V. Fletcher
(e) Distress
(f) Tort and crime
(g} Exemplary damages.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mrs. X and Mrs. Y hired a car by knowing very well that the driver is
under drunken condition. The car collided with lorry and Mrs. X died
due to the injuries. Her husband claimed compensation from the driver
based on negligent driving. Decide the liability of the driver.

S is running a sweet shop and is having a good business and turnover
from it. After sometime A started another sweet shop just opposite to his
shop and offered lesser price. The crowd went to A's shop and S suffered
loss due to this. He claimed damages from A for the léss. Decide. '

R was admitted in the hospital for kidney surgery. The doctors
negligently removed the active and good one instead of removing the
damaged kidney. R claimed damages from the hospital authorities for .
the negligent act of its doctors. Decide the liability of the hospital
authorities. :

2 H 1491




5 : Register No.

H 1492 HVE/HBAE/HA1E/HB1E/
- HC1E/HD1E/CHA1E/CHB1E/
CHC1E/CHD1E

B.Com., LL.B. (Hons.)/B.A., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/
B.B.A.,, LL.B (Hons.)/B.A,, B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2017)
First Year — First Semester

LAW OF CONTRACTS —1
Time : 24 hours : Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each. :

1. State the provisions relating to the nature and effects of minor's
contract. Refer to decided cases. -

2. Describe the modes of discharge of contract by referring to leading cases. ‘ - lﬂ;
it Explain the various forms of Quasi cohtracts with examples.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

o

\\’Distinguish between Penalty and Liquidated damages.

State the circumstances under which an offer lapses.

=

6. Define Wagering,' contract. - Enlist the requirements of wagering i
contracts. State its exceptions. 3

: 2 PARTC—~(5><4.=20 marks)
7.  Write short notes on FIVE of the following :
(a) Offer and invitation to offer -

(b) Accord and Satisfaction

(¢) Mandatory injunctions

Chinnayya V. Ramayya




(e) Mistake of fact and mistake of law
() Adequacy of consideration
(g) Time as an essence of contracts
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8. A received summons to appear as a witness before a trial court. B, a
party to the suit promises to pay A Rs. 5,000 ir. addition to A’s expenses.
Later on B refused to make the payment. Advise A.

9. A agrees to pay ‘B’ Rs. 5 lakhs if B brings C a dead person to life. Is the
agreement valid? Give reasons.

10. X sells, by auction, to Y’ a horse which X knows to be unsound. X says
nothing to Y about the horse’s unsoundness. Does it amount to fraud.
Decide.

2 H 1492




Register No. i

H 1585 HVF/HA2A/CHAZA il

B.A..B.L. (Hons.)/B.A.,, LL.B. (Hons.) DEGREE (SEMESTER) |
EXAMINATIONS, APRIL 2018, i
(For the candidates édmitted from 2011 to 2017)

First Year — Second Semester
ENGLISH - 11

Time : 2% hours Maximum : 70 marks |
‘ PART I — (2 x 10 = 20 marks) | f
Answei' TWO of the following : : i
(a) Discuss the Thalidomide case and analyse whether it ainounts to i
prejudicing a fair trial. . ;
(b) Explain the five important functions of a lawyer.

() FExplain the difference between civil and criminal law and the
hierarchy of courts dealing with civil law.

PART IT — (5 x 3 = 15 marks)

2.  Annotate FIVE of the following

(a) “Prisoner at the bar, do you plead guilty to having murdered your
‘ wife on the evening of the ninth of June?”
s ' ' :
{b) The Third task of the great lawyer is to do his part individually.

(¢) . The first publication of the articles “Parnellism and Crime” was on
the 7tk March, 18877

(d The first shock came in the shape of the Rowlatt Act, a law
designed to rob the people of all real freedom.

(e) Legal education in this country, in any modern sense, is only about
eighty years old. :

(f) The purpose of this paper is not to praise the linguistic nimbleness,
of the lawyer, but rather to consider some of his defects.

() A law teacher (or) practicing lawyer can usually be persuaded to
assist by setting the moot.

[P.T.O]




PART III — (2 x 5 = 10 marks)

Answer TWO of the following :

(a)
(b)
(c)

(a)

)

Discuss the various stages of language acquisition by a child.
Explain spoken and written skills.

Write the meaning for the following figures of speech with
examples.

) Euphemism.
(ii) Simile,
PART IV — (3 x 5 = 15 marks)
LOGIC — (2 x 5 = 10 marks)
What is a fallacy? Explain with examples.

Or

Explain the structure and kinds of propositions.

Bring oﬁt the fallacy in ONE of the following Syllogisms

(a)

(b)

All lions are ferocious
No lion is a tea-drinking creature
- No tea-drinking creature is ferocious.

Or

The end of a thing is its perfection.

Death is the end of life.

«» Death is the perfection of life.

LETTER WRITING — (5 marks)

Write a letter to the appropriate authority.

On the problem of lack of proper drainage facility and the consequent

health hazards in your area.

2 : H 1585




PART V — (10 x 1 = 10 marks)
7~ Use TEN legal terms in sentences.
(a) Adjournment.
(b) Affidawit.
(¢) Breach of contract.
() Damages.
~ (¢) De-Facto.

@ Incamera.

(g) Hearsay.
(h) Promissory Note.
@ Ultra Vites.

(1) Trespass.
(k) Vis-Major.
i
1) Waiver. )
™

3 H 1585




Register No.

H 1495 HVI/HBAI/HA2B/CHA2B

B.A., B.L. (Hons.)/B.A.,LL.B. (Hons.)/B.Com.,B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018,

(For the candidates admitted from 2011 to 2017)
First Year — Second Semester

POLITICAL SCIENCE - I (POLITICAL THEORY)

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each. i

1. “Political Science starts with State and ends with the State’] — Elucidate.
9.  Write an essay on the Presidential form of Government.

3. Explain Rousseau’s theory of Social contract.
PART B — (2 x 7= 14 marks) il
Answer TWO of the following in about 300 words each. |

4. Sovereignty means ‘Supreme power over Ccitizens and subjects
unrestrained by laws’ — Explain,

5. Explain the three distinct phases in the evolution of human rights at the
International level.

6. Examine the functions of the legislature.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(a) Political Science and Sociology.

(b) Matriarchal Theory.

(c) Correlation of rights and duties.

(d) John Austin.

(¢) Feminism.

() Classification of Modern Governments.

(g) Facism.

[P.T.0.] |

| |




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
©
(d)
(e)
®
(2)
(h)

Traditional approach.
Classification of sovereignty.
Constitutional protection of rights.
Marxian thought.

Unicameral legislature.

Plato.

Separation of powers.

Federal government.
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Register No.

HVG/HBAB/HA2C/CHA2C/
"HB2D/CHB2D/HC2D/

H 1493 : CHC2D/ HD2D/CHD2D

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.)/B.Com., B.L.. (Hons.)/

B.Com., LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A., LL.B. (Hons)

DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.
(For the candidates admitted from 2011 to 2017)

First Year — First Semester/Second Semester

(HVG)-HISTORY - II

(HBAB/HA2C/CHA2C/HB2D/CHB2D/HC2D/CHC2D/HD2D/CHD2D) —

LEGAL AND CONSTITUTIONAL HISTORY

Time : 21 hours : Maximum : 70 marks

i
PART A — (2 x 12 = 24 marks) ;

Answer TWO of the following in about 500 words each.

Discuss the plans of Warren Hastings.
Explain the concepts Separation of powers and the independence of the
judiciary.
Critically analyse the salient features of the 1935 Act.
: PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Explain the Mayor’s Court and Charter of 1726.

Explain about the Privy Council and its jurisdiction in India.

Discuss Dyarchy under the 1919 and 1935 Acts.
' PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Development of Justice system in the Madras Pre81dency t111 1726.
(b) The Trial of Nanda Kumar.

(¢) Judicial measure of Cornwallis of 1793.

(d) Dual system of Administration of justice.

(¢) Salient features of the Government of India Act, 1858.
() Important provisions of the 1909 Act.

() The development of legal profession.

[P.T.0.]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)

(b)
©

(d)
(e)
@
()

(B

White qun.

1600 Charter.

Nizz;mat Adalat.

Law Reporting.
Governor-General.
Council of states.

Bar Council of 1926.
Bar Committee of 1951.

H 1493




Register No.

H 1507 HXB/HBCC/HA2D/CHA2D/HB3C/CHB3C
HC3C/CHC3C/HD3C/CHDSC

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.)/B.Com., BL (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A., L1.B., (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.} — Third Year — Fifth Semester —
HXB/HBCC B.A., LL.B. (Hons.) — First Year — Second Semester —
HA2D/CHA2D B.Com., LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/
B.C.A., LL.B. (Hons.) - Second Year — Third Semester -
HB3C/CHB3C/HC3C/CHC3C/HD3C/CHD3C)

LAW OF CRIMES - I (Indian Penal Code)

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWQ of the following in about 500 words each.

1. “It is not a crime of murder, unless it includes the essence of Culpable
homicide” — Argue and comment. :

2.  Critically analyze the jurisdictional aspects on the application of Indian
Penal Code with relevant cases.

3> Trace out the offences that shall be committed against women in Indian
Penal Code with decided cases.

- PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Examine the concept of mistake of law and mistake of fact.

5. In all robbery, there is either theft (or) extortion. Examine the
statement.

6. Analyse the concept of Perjury in Indian Penal Code.




PART C ~— (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(@
(b)

(©)
()
(e)
6
()

Theories of punishment.
Constructive liability.

Adultery.

‘Defamation.

Sedition
Attempt.

Suicide.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A, a doctor informed Z, that R will not survive for mére than 2 months
and also instructed not to reveal the same to R, which may cause death
immediately. Z, the next day.communicated the same to R and R died in
consequence of shock. Decide the liability of A and Z.

A finds a diamond ring, not knowing to whom it belongs. A sells it
immediately without attempting to discover the owner. Decide whether
A has committed any offence.

A, under the influence of passion excited bjr a provocation given by Z,
intentionally kills Z’s child. Decide the liability of A.

H 1507




Register No.

H 1496 , HVJ/HBAJ/HA2E/HBZE/
HC2E/HD2E/CHAZ2E/
CHB2E/CHC2E/CHD2E

B.A., LL.B. (Hons.) / B.A,, B.L. (Hons.) / B.Com., B.L. (Hons.) / B.Com.,
LL.B. (Hons.) / B.B.A,, LL.B. (Hons.) / B.C.A., LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2017)
First Year — Second Semester

LAW OF CONTRACTS - 11

Time : 24 hours : Maximum : 70 marks
PART A — (2 % 12 = 24 marks) }
Answer TWO of the following in about 500 words each.
1. Discuss the various modes by which a contract of agency is created.

2. Explicate the rights and duties of partners inter-se and in relation to the
Partnership firm. :

3. Expound the conditions and warranties implied into every contract of
sale of goods.
PART B — (2 x 7 = 14 marks)
o Answer TWO of the following in about 300 words each.

4. State and explain the significant features of a Contract of Guarantee.

o

Enumerate and expound the duties and rights of bailor and bailee.

P

‘Delegatus’ non potest delegare’ — Explain stating the exceptions.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following.

(@) Duty of disclosure in guarantee
(b) Gratuitous Bailment

(c) Auction sale




10.

~ (d) Foreign principal

(e) Retirement of Partner
(f) Comparison between sale of goods and hire-purchase

(g) Ostensible authority of agent.
PART D — (2 x 6 = 12 marks)

Answer TWO of the followipg by referring to the relevant provisions of
Law and decided cases. Give cogent reasons:

A leaves his pet dog with B during his visit to another town for 3 days,
along with pedigree food of a particular brand, instructing not to allow
the dog to partake of any other food. B feeds the dog with egg and milk
along with the pedigree food. The dog suffers from diarrhoea and is
hospitalized. ‘A’ sues ‘B’ for damage for default. Decide.

‘E’ 1s an agent appointed by ‘F to sell his property for not less than five
crores of INR. ‘E’ enters into a contract for sale, representing his
principal ‘F, for a sum of four and a half crores. ‘F’ refuses to fulfil the
obligation under the contract. Decide.

‘S’ enters into a contract with “I” for sale of fabric showing sample as
well as describes the product. The delivery is tendered at 9.30 p.m. on a
Sunday at the residence of “T° by a courier service which is not allowing
‘T’ to unpack and check the fabrics. “T" refuses to accept the delivery.
‘S’ sues ‘T for breach. Decide. !

2 H 1496




Register No.

H 1498 7 - HWB/HA3A/CHASA

B.A., B.L. (Hons.)/ B.A., LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Third Semester

SOCIOLOGY - H
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  Critically énalyse the changing trends in caste system inicontemporary
Indian Society. ;

2. Define Joint family and explain the merits and demerits of joint family
gystem.

3. Define Social change and examine the nature and characteristics of
social change.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. “In spite of various diversities India is united”. Discuss.

5.  Highlight the status of women from ancient age to modern period.

6. - Explain the role of law in promoting the welfare of disadvantaged group.

PART C — (56 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Women in Ancient India.
(b) Reasons for increasing corruption.

(c)  Dispersed Village.

(d) Legal profession in Indian society.




——

(e) Technological change,

() Empowerment of women.
(2) Patriarchal Joint family.
PART D — (6 x 2 =12 marks)
Answer SIX of the following very briefly:
(a) Dowry déath.l
(b) Nuclear family.
(¢) Tribes.

2 (d) Caste and class.

(e) Divorce.

() Reservation.

(g) Social unrest.
(h) Social diversity.

H 1498




Register No.

H 1497 | HWA/HASB/CHASB

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year -—— Third Semester

POLITICAL SCIENCE II — STATE AND POLITICAL OBLIGATIONS

Time : 24 hours Maximum : 70 marks

PART A —— (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Discuss Plato’s Crito. ; ;
9 Examine the Utilitarian theory of political obligation.
3.  Write an essay about Distributive Justice and Corrective justice.
PART B - - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Examine the views of Locke on political obligﬁtion.

5. Evaluate the nature of political obligation under the Constitution of
India.

6. Discuss political obligation and revolution.
PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :

(a) Voluntarism

() T.H. Green on political obligation

(¢)  Max Weber’s theory of Authority

(d) D.H. Thoreau

(©) Membership and political obligation

() Upendra Baxi

(g) Ancient Indian institutions on political obligation.




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)

G
&

()

(h)

Rousseau

Legal Right

Civil Disobedience

Consent

Edmund Burke

Contemporary developments in political obligation
Justice

Sarvodaya.
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H 1499 | ' HWC/HBBCO/HA3C/CHASC

B.A., B.L. (Hons.)/B.A,, LL.B. (Hons.)/B.Com., B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Third Semester

ECONOMICS -1
(GENERAL PRINCIPLES OF ECONOMICS)

Time : 21 hours Max1mum 70 marks
PART A — (2 % 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Define Economics. Explain its nature and scope. :

Evaluate indifference curve analysis with suitable diagrams.

Describe the Comparative cost theory of advantage and Modern theory
of International Trade and their practical relevance. :

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Explain the Law of Variable Proportions.

How pricé and output are determined under monopolistic competitive
market? Explain with diagram.

Discuss the characteristics of good tax system.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Basic problems of an Economy
~ (b) Marginal rate of substitution

() Consumer Su_icplus

[P.T.0.]




Answer TWO of the following by i'eferring to the relevant provisions of law

10.

Write short notes on FIVE of the following :

(a)
(b)
(c)
(d)
(e)
@
(2)

A marriage is solemmsed between a Hindu Bridegrodm aged 17 years
and a Hindu Bride aged 15 years with the comsent of the bride’s
guardian in marriage. Decide its validity under the Hindu Marrlage Act,
1955 and also point out the present position.

- A, a minor Muslim girl, is contracted in marriage to B, a minor Muslm
boy by her deceased father's brother. Is- A entitled to the option of

puberty?

A Hindu girl aged about 24 years marries her maternal uncle’s son aged
about 22 years under the Special Marriage Act, 1954. What is the effect
of the marriage?

- PART C — (5 x 4 = 20 marks)

Sapinda relationship
Prathiloma marriage
Marriage Registrar

Deferred Dower

Divorce by mutual consent under Christian Law
Guardianship of property under Muslim Law
Saroj Rani V. Sudarshan Kumar, ATR 1984 8C 1562.

PART D — (2 x 6 = 12 marks)

and dec_ided cases, (Give cogent reasons.
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Register No.

HWE/HBBE/HA3SE/HB3E/HC3EMD3E/

1 :
H 150 CI{ASE/CHBSE/CHC3EJCHD3E

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.)/B. Com., LL.BMHons.)/
B.Com., B.L. (Hons.)/B.B.A., LL.B. (Hons.)/B. C.A., LL.B. (Hons.}
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year R Third Semester
CONSTITUTIONAL LAW -1

Time : 2+ hours 7 Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the followmg in abeut 500 words each.

In the wake of liberalization is there a need for Wldemng the deﬁmtlon
of State for the purpose of Part II1 of the Constitution of India?

“Strikes, Hartal and Bandh are banned in the interest of public as per
the decisions of the Courts” — Discuss. ‘ '

. Distinguish between Freedom of religion and Rehglous fanatlclsm
Critically evaluate the provisions of the Constitution of India with

refesence to _secularlsm in Indig.

PART B — (2 % 7= 14 marks)
Answer TWO of the following in about 300 words each.
Witon nol on Minority run educational institutions and State control.

Discuss the rights that have emanated from the Directive Principles of
State Policy and elevated to the status of Fundamental rights.

Can the affirmative action under Article 16 be impoée& on Private

industries as well? Give reasons.




Answer TWO of the following by referring to the relevant provisions of law

106.

PART C —(5x4=20 marks)

Write short notes on FIVE of the following :

(a) Latimer House principle.

(b) Protective discrimination.

{(¢) Theory of Separation of Powers,

(d) Due process clause.

(e) Fundamental duties. i

()  Free and compulsory education under Article 21 A,

(g) Constitutional Amendments.

PARTD —(2x6=12 marks)

and decided cases. Give cogent reasons.

X’ and group of persons have assembled in a public place. X’ wants fo
address the public. A Police officer prohibits holding of the meeting in
the public place. Has ‘X’ violated any-law? Decide.

The Passport authorities have refused to issue the passport to A, a
citizen of India, to go abroad. Can the authorities be compelled to issue
the passport? Decide. :

A Magistrate issues an order authorising the investigating officer to
take the specimen ‘handwriting and finger prints of X, an accused

against his willingness. X challenges the order stating that .i:t_lvi'olates
his fundamental-rights under Article 20(3) of the Constitution. Decide.

2 | H 1501




Register No.

H 1502 _ | | i HWF/HBBF/HA4A/CHA4A

B.A.,B.L. (Hons.)/B.A., LL.B. (Hons.)/B.Com., B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester

HWF —— POLITICAL SCIENCE — III (INTERNATIONAL RELATIONS)
B.A.,B.L. (Hons.)

HA4A/CHA4A — POLITICAL SCIENCE — 111 (INTERNATIONAL
RELATIONS) B.A,, LL.B. (Hons.) j

HBBF — POLITICAL SCIENCE — IT ANTERNATIONAL
RELATIONS) B.Com., B.L. (Hons.) i

Time : 24 hours . Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the significance of international relations.
2. Discuss the theories of international relations.

3.  What are the causes and effects of II World war?

PART B — (2 x 7 = 14 marks)

- Answer TWO of the following in about 300 words each.
4.  Explain Hans Morgenthau’s theory.
5. . Examine the achievements of the League of Nations.

6. Describe the different phases of Cold war.




~3

PART C — (5 x 4.: 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(c)

.

(e)
®
(g)

Role of UN in international peace and security.

- Globalisation and NIEO

Fascism -
SALT I and SALT II
Diplomacy and its types

United Nations Organisation

NAM.
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(@)

()

©
(d)
(e)
()

(g

(b)

Realism

Drone Attacks

National interest

World public opinion
Sources of International Law
EU

Constructivism

SEATO.

> H 1502
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Register No. ‘1

H 1503 HWG/HA4B/CHA4B

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester

ECONOMICS - IT — (Indian Economics)

Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
 Answer TWO of the following in about 500 words each.

Explain the role of public, private and joint sectors in Indian economic

development.

Discuss the National Income concepts. Estimate the recent trends and

difficulties in measuring National Income in India.

Explaih the various social security schemes implemented in India.
3 PART B— (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Evaluate the features of Land reforms in India.

Define Poverty, What are the measures taken by the government to

eradicate poverty?

Trace the challenges and problems of Agricultural marketing in India.

[BECr




PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following.

(a)
©)
(0)
(d)
@
®
®

Characteristics of Under developing Economy.
Workmen’s compensation Act.

Causes and impacts of popuiation growth
Green Revolution

Problems of cottage industries -

Trade union and its objectives

Role of external assistance in Economic development.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)

@

(e)
@
(2

()

}

Capitalistic Economy Vs. Socialistic Economy
NAFED

Voluntary unemployment

Counsolidation of Land Holding

White revolution

IRDP

Industrial Policy

Choice of Technology in Agriculture.
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Register No.

: ‘ HWH/HBBG/HA4C/
H 1504 HB4C/HC4C/HDA4G/
CHA4C/CHBAC/CHCA4C

CHD4C

B.Com.,LL.B. (Hons.)/B.B.A.,LL.B. (Hons.)/B.C.A.,,LL.B. (Hons.)/
B.A., LL.B. (Hons.)/B.A., B.L. (Hons.)/B.Com., B.L: (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Yéar — Fourth Semester

JURISPRUDENCE
Time : 2% hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks) =’
Answer TWO of the following in about 500 words each.

1. “Jurisprudence as the formal science of positive law”. Elucidate.

2. “Every positive law or every law simply and strictly so called, ig set by a
sovereign individual or a sovereign body of individuals to a person or
persons in a state of subjection to its author”. Examine.

3. Analyse various kinds of Customary law.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. Explain right and discuss various kinds of Rights.
5. Define Legislation and examine its relation with precedent;

6. Define person and analyse the legal status of dead person.
PART C — (b x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(@) Law as a system of rules.

() Animus possidendi.

() Ownership.




(d) Subjective theory of Negligence.
(e}  Absolute Liability.

® Elements of Judicial Procedure.

(g) Rebuttable and Conclusive Presumptions.

PARTD —(2x6=19 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A, who is hunting in a forest, shoots at a bush thinking that a tiger was

lurking inside but the bullet hits and kills B — Decide.

grandfather. Decide. ' | i

A statute was providing that animals carried on board a ship should be
kept in pens. The statute was enacted in order to prevent infection
spreading from one owner’s animals fo those of another. The defendant
carrier had failed to enclose the plaintiffs sheep in pens which had
during storm, been washed overboard. Decide.

G H 1504



Register No.

H 1505 HWI/HBBI/HA4D/HB4D
. HC4D/HD4D/CHA4D/
CHB4D/CHC4D/CHD4D

B.A., LL.B. (Hons.)/B.A., B.L.(Hons.)/B.Com., B.L. (Hons.)/B.Com,,
LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A,, LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Second Year — Fourth Semester

FAMILY LAW —1I

Time : 2% hours : Maximum : 70 marks

 PART A— (2 x 12 = 24 marks) L
Answer TWO of the following in about 500 words each. :

What are the principles underlying Partition of Hindu joint family.

Comparatively analyse the Right to Property of women under different

religious and statutory laws.

Discuss the powers and functions of mutawalili.
PART B — (2 x 7= 14 marks)

‘Answer TWO of the following in about 300 words each.
Describe the powers and duties of Karta of Hindu joint family.
Explain about the different kinds of legacies.

Discuss the principles of succers;sion-if a Hindu male dies infestate.
© PARTC— (5 x 4=20 marks)

Write short notes on FIVE of the following.

(a) Right of Pre-emption

)] R'e-opem’ng. of Partition




(¢) Kinds of Hiba
(d) Probate and letters of administration
() Agnates and Cognates
(® Lapse of legacy
(& Doctrine of ‘Aul’,
' . PARTD—(2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8. A Hindu female dies Intestate leaving her mother, husband, son and
father- in-law. Distribute her estate.

9. A Hanafi Mohammedan dies intestate leaving his two wives, mother,
two daughters and a son. Divide his property. '

10. A Christian male dies leaving his father, two sonsé, wife and mother.
Distribute his properties.




Register No.

H 1506 HWJ/HBBJ/HAAE/HB4EMH C4E/HD4E/
CHAAE/CHB4E/CHCAE/CHDA4E

B.A., B.L. (Hons.)/B.Com., LL.B. (Hons.)/B.A., LL.B. (Hons.)/
B.Com., B.L. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A,, LL.B. (Hons.)
~ DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2016)

Second Year — Fourth Semester
CONSTITUTIONAL LAW - IT

Time : 21 hours : Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. The Automobiles transport case has considerably reduced the taxing
power of the states. Critically examine the taxing powers of the states in
the light of the above mentioned judgement of the Supreme Court
vis-a-vis the original taxing power of the States under the Indian
Constitution.

2. “The Residuary powers are the legislative powers that fall in none of the
three lists under the Constitution. These powers are neither under the
legislative powers of the States nor the union, but is under the
jurisdiction of the judiciary.” Critically examine the above statement.

3. The amendment to Article 102 and 191 seeks to put an end to the evil of
political defections that undermines the basic principle of democracy.
How far the Anti-Defection Law contained the menace of corruption in
the political circles?

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4. Discuss briefly the constitutional position of the President of India.
5. Write a note on the constitution and composition of Union Parliament.

6. Explain the scope of Special leave jurisdiction of the Supreme Court
with case laws.

[P.T.0]




PART C — (5 x 4 = 20 marks)
7.  Write shért notes on FIVE of the following :

(a) Doctrine of Colourablé legislation.

(b) Advisory jurisdiction of the Supreme Court.

(c) Inter-state water disputes.

_ (d) Prospective overruling.

(&) Doctrine of pleasure.

(® S.R.Bommai V. Union of India.

(g) Liability of Government for the tortious acts of its servants.

PART D — (2 x 6 = 12 marks)
' i
Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8.  The Government of Mandia entered into a treaty with the Crussia on a
subject matter which is in the State list under the Indian Constitution.
Is it sustainable? Decide.

9. A truck belonging to the Indian Army met with an accident resulting in
the death of X’. X’s wife claims compensation by filing a suit agalnst the-
government. Can she succeed? Decide. ‘

10. The Assam State legislature enacted a law imposing tax on goods,
e including tea, carried by road or inland waterways over any part of the
territory of the state. The Act was challenged on the ground of
restricting freedom of trade and commerce guaranteed under Art1cle 301
of the Constitution. Examme

2 : , H 1506
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Register No.

H 1586 | HXA/HAG6B

B.A., B.L. (Hons.)/B.A,, LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018. '

(For the candidates admitted from 2011 to 2015)
Third Year — Fifth Semester/Sixth Semester.

POLITICAL SCIENCE IV — PUBLIC POLICY AND PUBLIC
ADMINISTRATION

Time : 24 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Define Public policy and discuss its nature.
9 Examine the growth of Public corporations in India.
3 Discuss the concept of O and M.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Analyse various theories of Organisation.

5. Explain the importance of 74t Constitutional Amendment.

o3}

. “Analyse main provisions of The Protection of Human Rights Act.
PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following :
(a) Public Administration.
(b) Planning.
(¢) Human Relation Theory.
(d) Centralised Administration.
(e) Audit and Accountability.
(fy Independent Regulatory Commission.
(® TRAL

[P.T.O.]
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"PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e)
@

()
()

Evolution of public administration in developing countries.

Henry Fayol's fourteen principles of administration.
Decision making. .

Planning Commission.

National Human Rights Commission.

Women’s Commission. .

Judicial control over public administration.
Woodrow Wilson.

- H 1586




H 1509 kot HXD/HA5SB

Register No. : __|

B.A., B.L. (Hons.)/ B.A,, LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidéxtes admitted from 2011 to 2015)
Third Year — Fifth Semester
HUMAN RIGHTS LAW

Time : 21 hours Maximum : 70 marks

o WOt

PART A —(2x12=24 marks)
Answer TWO of the following in about 500 words each.

Define ‘Civil Rights”. Explain the development of ‘Civil Bights’ in ‘the
post UN era.

Critically evaluate the role of Supreme Court of India to promote human
rights through international instruments. :

Examine the legal protection available to ‘disabled’ and ‘aged persons’.
PART B -- (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Trace the making of UDHR. ' '
What is the role of NGOs to ﬁromote human rights?

Explain the functions of State Human Rights Commission.

PART C — (5 x 4 = 20 marks)

- Write short notes on FIVE of the following :

(a) Natural Rights,

(b) Human Rights Committee.

(¢) UN Core conventions and India.

(d) Human Rights in OAS.

(¢) National Commission for Scheduled Tribes.
) Rights of LGBT. | :

{(g) Genocide.

[P.T.O]
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PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions
of law and decided cases. Give cogent reasons. '

A is prosecuted and convicted by a criminal court in his country. There
were many evidences to show that he was convicted on the influence of
higher political powers. He approached a committee under international
human rights system. Decide,

Thambi is working with a nuclear installation in India. He was falsely
implicated in a criminal case and later discharged by a higher court. He
approached NHRC for compensation. Decide.

There was a huge stampede and 10 persons were killed during a temple
festival. Supreme Court has taken up this case as Suc motu. Decide on
the scope of compensation to victims.

9 ' H 1509




H 1508 FXC/HBCD/HAS C/HB5C/IC5 C/HD5C]

B.Com., B.L. (Hons.)/B.Com.,LL.B. (Hons.)/B.C.A., LL.B (Hons.)/B.B.A.,
1L1.B. (Hons.)/B.A., LL.B. (Hons.)/ B.A,, B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2015)
Third Year —— Fifth Semester
PUBLIC INTERNATIONAL LAW
Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each. ;
1. “International law is not a true law because it lacks sanction behind it” —

Discugs whether the statement ie relevant in the present day
international relations.

9. Analyse in detail the evolution of international law with respect to State
Responsibility.

3 Fvaluate various reasonsg for the failure of League of Nations and to
what extent United Nations Organisation is fulfilling the objectives and
purposes of UN charter.

PART B —- (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4  Examine the concepts of Continental shelf and Exclusive Economic Zone
and the rights of coastal state over these areas.

5 What is ‘double veto? Examine the voting procedure in the Security
Council.

6. Describe the various modes of Acquisition and loss of territory.
PART C — (5 x 4 = 20 marks)

7 Write short notes on FIVE of the following :

(a) Theory of Positivism.

(b) S.S. Lotus case.

(c) Equityasa General principle of international law.

[P.T.0.]
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(d) Nuremberg Trial.

(e) Pacta sunt servanda,

() Jus cogens.

(g) Advisory Jurisdiction of ICJ.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

The State of Markland had convicted the captain of a ship that belonged
to Genmark as he violated fishing bye law passed by it. The ship had
been operating within the area covered by the relevant state law but
was beyond the three miles limit prescribed by International law.
Discuss whether the action of State of Markland is correct?

A contract entered between Compression Railway Co. and State X has
conferred some benefits upon the employees. Later State X was
succeeded by State Z. State Z denies benefit to the individuals which
was contested by them before the Court of justice. Decide.

Zestian was appointed by the United Nations Security Council in order
to mediate some conflict in the area of Salitus, situated in Rafania.
When he visited the place, he was murdered by terrorists along with the
observer? Now decide whether the State of Rafania is responsible to pay
damages under International law.

2 H 1508
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~ Register No.

H 1527 ' HZIHB6B

B.Com.LL.B. (Hons. )/B.A.,B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 — 2015)
Third Year — Sixth Semester/Fifth Year — Tenth Semester
CUSTOMS AND EXCISE LAWS
Time : 2% hours : . Maximum : 70 marks
PARTA —(2x12=24 marksj
 Answer TWO of the following in about 500 words each.

Give an account of the procedure for prevention and detectlonlof illegal
“export of goods under the Customs Act, 1962.

Narrate the method of valuation of goods under the Customs Act, 1962,

Discuss the salient features-of the Central Excise Act, 1944.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Give an account of filing appeal before the Commissioner of Customs
and Excise.

T1scuss in brief the power and duties of Central excise officers under the
Central Excise Act, 1944.

Discuss briefly licencing of warehouses under the Customs Act, 1962.

PART C — (5 x 4= 20 marks)

-

Write short notes on FIVE of the following :
(2) Bill of Entry.

() Customs port.

(¢) Provisional assessment of duty.

(&) Search under the Central Exc1se Act, 1944

[P.T.0]




(¢) Revision by the Central Government under the Central Excise
© Act, 1944, _

() Advance ruling under the Central Excise Act, 1944.

(g)  Special Economic Zone.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

A while coming to India was wearing jewels. Authorities claim that the
body of a passenger is a baggage. Hence declaration is needed for the
gold ornaments worn by the passenger. A denies the same. Decide.

A passenger was travelling in a taxi. His suitcase contained foreign
marked gold. The driver did not know this. Decide whether the taxi
could be confiscated?

‘A’ comes from Singapore to India and lands at Chennai Airport
Authority. Under suspicious eircumstance he ‘has been produced before

the magistrate. The magistrate ordered to X — ray his body to find out -
any golden ornaments hidden in his body. A objects that, for searching

golden ornaments search by X-ray cannot be done under Sec. (101) of

- the Customs Act 1962. Decide.




Register No.

H 1510 HXF/HBCH/HA6C/HB6C/HC6C/HDEC

B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.)/B.C.A., LL.B. (Hons.)/
B.B.A., LL.B. (Hons.)/B.A., LL.B. (Hons.)/B.A., B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2013.

(For the candidates admitted from 2011 to 2015)
Third Year — Sixth Semester
ADMINISTRATIVE LAW

l
Time : 21 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Jat
Ll
Answer TWO of the following in about 500 words each.

1. Examine ‘essential legislative function’ and explain how far it is used as

~ a yardstick to determine the permissible limits of delegated legislation.

9. Discuss the grounds on which administrative discretion is subjected to

judicial review. Refer to decided case laws.

3. Examine the reasons for the growt.h of Public corporations and state the '
- different kinds of control over them. :
i :
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Critically examine Dicey’s ‘Rule of Law’ and to what extent it finds a

place in the Constitution of India.
5. Explain the Rule against Bias with the help of decided cases.

6. Discuss the characteristics, merits and demerits of Administrative

Tribunals.

[P.T.O.]
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PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Daifference betw.een Constitutional Law and Administrative Law
(b) Procedural Ultra vires
(¢) Post—Decisional Hearing
(d) Public Interest Litigation

(¢) Ombudsman

(D Central Administrative Tribunal

(g8) Right to Information.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant pxgovisions of law

10.

- and decided cases. Give cogent reasons.

The Central Act authorised the Central Government to levy a cess up to
50 paise per metric tonne on iron and spend the money so collected on
labour welfare. This has been challenged as excessive delegation.
Decide.

A student was involved in a criminal case for stabbing a co—student The
college authorities debarred him from entering the college premises and
attending classes till the pendency of the case against him. The order
was challenged on the ground of denial of Natural justice. Decide.

The Central Government announced through an administrative order
an ‘Export Promotion Scheme’ through that the exporter was entitled to
import raw-materials of the equal value of the exports. Relying on this
order, the Rajan Agencies exported goods worth rupees 5 lakhs and
claimed import entitlement. The Textile Commissioner issued to them

- an import entitlement of only rupees 2 lakhs as against export of goods

worth of 5 lakh rupees. The order was challenged by Rajan Agenc1es
Decide. ;

2 , ' H 1510
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BA., B.L. (Hons.)/B.Com., B.L. (Hons) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018,

(For the candidates admitted from 2011 to 2014)
Third Year — Sixth Semester/Fourth Year — Eighth Semester
LAW OF EVIDENCE

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. What are the essentials of a Fact? Define the terms fact’ and ‘facts 1n
: , }
issue. ¢

9 Explain about the Doctrine of Res-—gestae by making reference to the
Indian Evidence Act.

3 Whatis extra judicial confession? When is it admissible in evidence?
PARTB —-(2x7=14 marks)
Answer TWO of the following in about 300 words each.

4. What is meant by exclusion of oral evidence by documentary evidence?

5. What are the rules relating to 'Burden of proof under the Indian
Evidence Act of 18727 : :

6. What is Circumstantial evidence? Discuss the rules of application of
such evidence. :

PART C — (5 x4=20 marks)

7.  Write short notes on FIVE of the following :

(a) Child Witness

(b) Accomphice Evidence

(¢) Privileged Communications

(@) BEstoppel

(e) Public Document

(f) Expert Evidence

(g) Presumption.

®.7.0.]




Mo

10.

PARTD — (2x6=12 marks)

Answer TWO of the following by referring to the relevant provisions
of law and decided cases. Give cogent reasons.

Ram constructs a house on Deepak’s vacant land. Deepak does not
object to the construction. When the house has been completely
constructed Deepak Sues Ram for demolition of the house. — Decide.

The question is, whether, and when, A and B were married. Does an
entry in the memorandum book by C, the deceased father of B, of his
daughter’s marriage with ‘A’ on a given date, become a relevant fact?

A and B are jointly tried for the murder of C. A said before the court
“B ‘and I murdered C”. Can the court consider this confession
against B?

.
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Register No.

B.Com., LL.B. (Hons.)/B.Com., B.L. (Hons.)/ B.C.A,, LL.B.
(Hons.)/B.B.A., LL.B. (Hons.)/B.A., LL.B. (Hons.)/B.A., B.L. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2015)
Third Year — Sixth Semester
PROPERTY LAW

Time : 21 hours | Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.i

Explain the restrictive covenants and discuss about covenants running
with land. Refer to decided cases.

Explain the Doctrine of lispendence with decided cases.

Define Mortgage and explain the Doctrine of Clogs on redemptions with
decided cases. ‘

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 Words each. -

Define conditional transfer and distinguish between condition precedent
and condition subsequent.

Define lease and explain rights of the lessor and lessee in a lease.

. State the circumstances under which an Easement is suspended and

revoked.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
‘(a). Spes Successionis

(b) Class Transfer

[P.T.0]




Answer TWO of the following by referring to the relevant provisions of law

10.

(c) Vested interest |

{(d) Doctrine of Part Performance
(e) Webb Vs. MacPherson

€3] Dbnatio mortis-causa

(g) Quasi Easement.

PART D — (2 x 6 = 12 marks)

and decided cases. Give cogent reasons.

‘A’ gives by an instrument Rs. 1,00,000 to ‘B’. By the same instrument
‘A’ gives B's property to ‘C’. ‘B’ elects to keep his property. Discuss the

legal consequences of this situation.

Ravi sells his property to Mohan subject to a condition that Mohan
should sell it only to Somu. Decide the validity of the condition.

Mani gives Rs. 5,00,000 to Ramesh reserving to himself with Ramesh’s
assent to take back Rs. 2,00,000 out of the 5 lakhs. Discuss the validity
of the gift. '
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B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

H 1513

(For the candidates admitted from 2011 to 2014)
Third Year — Sixth Semester / Fifth Year — Tenth Semester
INTELLECTUAL PROPERTY LAW

Time ; E%hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. What are the salient features of Patent? Briefly explain the effects of
Trade Related Intellectual Property Rights (TRIPs) on Patent law in
India.

9 Examine the absolute and relative grounds for refusal of registration of
trademarks in India.

3. Enumerate the acts which do not constitute an infringement of
Copyright.

PART B — (2 x 7= 14 marks)
Answer TWO of the following 1n about 300 words each.
4.  State the law relating to trade secrets and confidential information.
5.  Analyse the importance of domain name under the Trademarks Act.

6. Explain the procedure for registration of designs in India.

PART C — (5 x 4 = 20 marks)
7 Write short notes on FIVE of the following :

(a) World Intellectual Property Organisation.
(b) Passing off action.

(c) TFalse trade description.




(d) Copyright Society.
(e) Patent Agents.
(f) Intellectual Property Appellate Board

(g) Spring Board Doctrine.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr. Thirumagan translated into Tamil a book written by
Mr. Azhaganen in English without the permission of Mr. Azhaganen
and earned huge profits. Whether Mr. Azhaganen has any right? Decide.

Jalbour Amla Hair oil marketed its products in plas}ztic bottles shaped
with a semicircular shoulder with tapering panel each other front and
back. M/s Hair Shine Oil Ltd., alleged that the bottles and caps which
are used by the Jalbour Amla Hair Gil 1s deceptively similar to that of
his company. Is it a valid claim? Decide.

Mr. Nichane, a tribal of Flimalayan region collected some herbals in that
region and discovered that 1t could be used for the reduction of blood
sugar at considerable level. Subsequently, Mr. Nichane filed an
application for want of Patent right in respect of that herbal. Decide the
power of Controller against the patent application.
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Register No.

B.Com.,B.L. (Hons.)/B.A., B.L. (Hons.) DEGREE (SEMESTER)
" EXAMINATIONS, APRIL 2018. '

(For the candidates admitted from 2011 to 2014)
Third Year — Sixth Semester :

LAW OF INSURANCE

Time : 2} hours - Maximum : 70 marks

o

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
J

Examine to what extent contracts of insurance are Contracts of
indemnity.

Explain how f_'elo de se impacts claim settlement on life insurance
policies.

Define the term ‘fire’ as used in relation to fire insurance contracts and
the ambit of fire insurance coverage against injury or loss to property.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

_"\"EXpOund the Doctrines of Contribution, Subrogation and Reinstatement

in relation to fire insurance coniracts.

Define the terms Maritime p_erils, perils on the sea and perils of the sea,
bringing out the differences between them and enumerate the perils
usually excluded in Marine Insurance Contracts. ;

Describe the constitution, powers and functions of the Life Insurance
Corporation of India.

- PART C — (5 x 4 = 20 marks) -

Write short notes on FIVE of the following :
(a) Cover note and slip.

(b) Insurance as aléatory contracts

P.T.0]




(c) CIF, FOB and ex-ship contracts

(d) No-fault liability in Motor vehicle insurance
(e) Salvage

() Insurable interest in fire insurance

(g) Partial return of premium.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

'B' insures his office premises against loss by fire including furniture
and other movables. A fire accident occurs and a claim is made including
for damage caused to goods due to heat emanating from the fire used to
cook for the office staff. Decide.

'Z' insures his life for seven lakhs of rupees. Enters his mother and
brother's name as nominees. 'Z' gets involved in the killing of a person
and received capital punishment. On Z's death, the nominees claim the
insurance amount. Decide.

'F' insures 10 gunny sacks of rice grains before sending them on sea
voyage. The ship’s crew closed the ventilator in the stowage area to
prevent the possibility of sea water entering. On reaching terminus ad
quem, it is found that the rice grains have become damaged by the over-
hot temperature caused in the stowage area due to close of ventilator, "B
claimg from the insurer to indemnify the loss. Decide.

ikl b i A i e
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H 1515 HYA/HA5D/HB5D/
HC5D/HDSD

B.Com.,LL.B. (Hons.)/B.C.A.,LL.B. (Hons.)/
B.B.A.LL.B. (Hons.)/B.A.,B.L. (Hons.)/B.A.,LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Seventh Semester/Third Year — Tifth Semester
COMPANY LAW
Time : 24 hours | _ Maximum : 70 marks

PART A — (2 x 12 = 24 marks) :
Answer TWO of the following in about 500 words each. ¢

1.  “Outsiders are bound to know the external position of a Company but

not bound to know its indoor Management’— Discuss.

9 “The court of law will not interfere with the internal management of
companies acting within their powers”. Explain with decided cases.

3. Define ‘Oppression and Mismanagement’. What are the powers of the
Central govt. to prevent oppression and mismanagement?

PART B — (2 x 7= 14 marks)
2 Answer TWO of the following in about 300 words each.
4. Briefly explain the various modes of Winding up of a company.

5 Discuss the powers and duties of an Auditor.

6. [Explain the provisions relating to Corporate social responsibility under
the Companies Act 2013. '

: PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Prospectus.

(b) Women Directors.

[P.T.O.]




{c) Proxy.
(d) Floating charge.
(e) Investor Protection Fuﬁd.

() Annual Géneral Meeting.

(8 One Person Company.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

Masons Pvt. Ltd is a Private Ltd. Co. as per the articles of association of
the company. However a Public company acquired shares in Masons
Pvt. Ltd thereby making the company a subsidiary of that public
company. State the impact of such acqulsltmn of spares by a pubhc
company on Masons Pvt. Ltd.

A petition signed by 100 members of a company has been moved to
National Company Law Tribunal for prevention of mismanagement.
Later on half of the members who signed withdrew their consent after
filing the petition. Examine whether the remaining applicants to the
petition would be successful in their complaint to the Tribunal.

10. Smart Ltd. was incorporated and the Certificate of incorporation was
issued by the Registrar of Companies, New Delhi. The Memorandum of
Association was duly signed except that X, Y and Z signed it on behalf of

- five minors. Examine the validity of the Certificate of incorporation by
the Registrar of Companies. » :
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B.A., B.L. (Hons. )/ B.Com., B.L. (Hons. ) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester
LABOUR LAW -1
Time : 2% hours Maximum : 70 marks
PARTA —(2x12=24 marks)

Answer TWO of the following 1n about 500 words eaclil.

e Examme the rights and liabilities of registered trade unions.

92 Discuse the scope of the power of the government to refer an industrial

dispute under the Industrial Disputes Act, 1947.
3. Enumerate the deductions that could be made from the wagesipayable
to a worker under the Payment of Wages Act, 1936.
PARTB — 2x7=14 marks)

Answer TWO of the following in about 300 words each.
4. Discuss the role of Collective bargaining in the settlement of industrial
disputes. : '

o1 Defme Closure and bring out the procedure to be followed for closing an

industrial undertaking under the Industrial Disputes Act, 1947.

6. Explain the conditions and procedure for modification of Standing

orders under the Tndustrial Employment (Standing orders) Act, 1946.

[P.T.O]




PART C — (5 x 4 = 20 marks)

* Write short notes on FIVE of the following:

(a) Unfair labour practices

(b) Distinguish between award and settlement
(c) Protected workman

(d) Subsistence theory of wages

(e) Conciliation officer

(f) Industry

(g) Statutory minimum wage

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of Law

(U

and decided cases. Give cogent reasons.

11 members of a trade union sent an application for registration.
5 members gave notice in writing of their disassociation from the
application before it was registered. The Registrar of trade union
refused to register the Trade Union — Decide.

3 workers were employed on daily wage basis as watchmen. As per the
contract, their employment had come to an end on completion of work.
When their services were not required, they were terminated. They
claimed retrenchment compensation. Will they succeed?

A dispute was raised by the workers of ABC & Co. regarding application
standing orders. Subsequently the workers filed a suit in a civil court for
the rectification of the standing orders. Is this suit maintainable?
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H 1517 HYC

B.A., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018. '

- (For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester
REGULATORY LAWS
Time : 2% hours _ ‘ Maximum : 70 marks
PARTA—(2x12= 24 marks)
Answer TWO 'of the following in about 500 words eachj.

1. Analyse how regulation beyond the State can be effectively implemented
in various sectors.

9" Discuss the functions of the Pension fund and development regulatory
authority.

3. Explain the composition, qualification, power and duties of the Telecom
Regulatory Authority of India. :

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Discuss the penalties for failure to furnish information, returns etc. as
per the provisions of the SEBI Act.

5. Explain the National Electricity Policy and Plan.

6. Expound the features of the National Pension Scheme introduced under
the PFDRA Act. '

PART C — (5 x 4= 20 marks)

7 Write short notes on FIVE of the following : :
{a) Filling up of vacancy in one composition of TRAI

(b) Duties of a Generating company under the Electricity Act

[P.T.O.]




(¢) Definition of the term ‘securities’ under the SEBI Act
(d) Contribution — Guidelines framed by PFDRA

(e) ILicensing under the Electricity Act

() Constitution of the SEBI Board

(g) Functions of the TRAI Authority.

PART D - (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

1007

and decided cases. Give cogent reasons.

A person ‘Z’ lost his handset and immediately notified the same and the
SIM card, to the Telecom Service Provider. After a week he approached
a branch of this service provider for a duplicate SIM for the same
number. They say that the number is no longer available to him. Advise
‘Z’ regarding action to be taken against the service provider.

‘X! faces rapid and extreme voltage fluctuation in his premises. He
lodged a complaint with the Electricity Board. Their personnel attend to
the matter, change the main electricity box and wiring and assure that
the problem will not occur. That very evening there is extreme voltage
fluctuation and the wiring in the second floor is burnt out and many
home electrical appliances get damaged and ceased to work. Advise ‘X
as to the procedure for redressal of his grievance and indemnifying his
loss from the Electricity Board.

‘P’ purchases securities through a stock broker from a stock exchange.
Later he comes to know that the stock broker is a fraudster and lodges a
complaint with SEBI. Decide.
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B.A., B.L. (Hons.)/B.Com., B.L. (Hons) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Seventh Semester
BANKING LAW INCLUDING NEGOTIABLE INSTRUMENTS ACT

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. State the various ways in which RBI can exercise regulatory control
over commercial banks in India.

9. Analyse the ways in which a bank depositor can have remedies 11 the
event of winding up of banks.

3. What are the various kinds of crossing of cheques as per the Negotiable
instruments Act?

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Explain the various civil and criminal liability under dishonour of
cheques provision in the Negotiable Instruments Act.

Explain the recent developments in the legal process of recovery of debts
due to banks.

What are the merits and demerits of Nationalisation of banks?

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Paying Bank |
(b) Vicarious liability of banks
(¢) Credit card and Debit card

(d) Promissory note

[P.T.O.]




(e) SARFAESI Act
(f) Debt recovery tribunal.
() Special status for SBL.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

8.

10.

and decided cases. Give cogent reasons.

A deposits jewels in a bank locker and later finds it missing.
A sues the bank for loss of jewels. Decide.

X loses his credit card and he informs the bank to block the card.
The employee fails to block the card immediately. In the
meantime X finds that a criminal has swiped his card many times.
X refuses to pay the bank as X claims that it was the fault of the

bank in not blocking the card. Decide.
i

A, B and C are banks with annual turnover of above Rs. 2000
crores. The Govt. of India comes with an ordinance that all banks
with annual turnover of above Rs. 2,000 crores will be
nationalised. Few shareholders from these banks challenge the
ordinance. Decide.
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B.Com.,B.L. (Hons.)/B.A.,B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Eighth Semester
ENVIRONMENTAL LAW INCLUDING ANIMAL WELFARE LAWS
Time : 24 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

' . . ¢
1. “Right to life includes right to free water and air for full enjoyment of

life”’— Discuss.

2. Explain the provisions relating to powers of the State Pollution Control
| Board in the prevention and control of Water Pollution under the Water
(Prevention and Control of Pollution) Act, 1974.

3 Define Hazardous waste and discuss the duties of the occupier in the

handling of waste under various waste management rules.

R . PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Examine the legislative and non-legislative measures in the control of

Noise pollution.

Examine the various acts affecting the environment as offences under

the IPC.

Discuss the functions of Central -zoo authority undér the Wildlife
(Protection) Act, 1972.

[P.T.O]




Answer TWO of the following by referrmg to the relevant provisions of law

10.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following.

() Environmental relief fund

(b) Public Trust Doctrine

(¢) Acts prohibited in reserved forests

(d) Fair and equitable benefit sharing

(e) Eco-labelling ; ,

6] Envirbnmental Impact Assessment
(g) Animal Welfare Board

PART D — (2 x 6 = 12 marks)

and decided cases. Give cogent reasons.

Line Star company was carrying on the activity of dusting and cleaning
of old gunny bags. The State Government gave direction to shift the
business from thickly = populated area to an environmentally

safer place. Aggrieved by this, the company filed a petition on the
ground that it violates the fundamental freedom under Article 19(1) (g)
of the Constitution of India — Decide.

Kerula dyeing and printing company was discharging theu‘ untreated
effluents into a stream. The State Government as well as the state
pollution Control Board. issued directions to close down the factory
under sections of the Environmental Protection Act. But the company
Challenged on the ground that no personal hearing was provided to
them—Decide. F

The State pollution Control Board on the basis of instruction issued by

" the State Covernment exempted rice milling from the provisions of the

Air Act and certain rice mills continued to operate in spite of the fact
that they were exiting air pollutants— Decide the legality of exemption of

 rice milling from the provisions of the Air Act

g% _ H 1519
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B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2014)
Fourth Year — Eighth Semester
LABOURLAW-TI
Time : 2+ hours - DS ' Maximum : 70 marks
PART A — (2 % 12 = 24 marks)
Answer TWO of the following in about 500 words each.

“The extent of prevalence of social security is a measure of thé progress
made by a country towards the idea of a welfare state” — Discuss. :

" Discuss the procedure for claiming and distribution of compensation
under the Employees’ Compensation Act, 1923..

Define Qccupier and discuss the general duties and special duties of an
occupier involved in hazardous process under the Factories Act, 1948.

PART B — (2 x 7 = 14 marks)
- Answer TWO of the following in about 300 words éach.

4, *Discuss the various benefits provided under the Employee’s State
Tnsurance Act, 1948.

5. [Explain the provisions relating to Annual leave with wages to the
workers employed in factories under the Factories Act, 1948.

6. Examine the obiigations of an employer under the Maternity Beneﬁté
Act, 1961. '

 PARTC—(5x4= 20 marks)
7. Write short notes on FIVE of the fqllowing :
(a) Seasonal factory

(b) ILO on social security

P.T.O0}




10.

(¢) Formalities to start a factory
(d) Forfeiture of bonus

(e) Permanent total disablement
() Employees’ Insurance Court

(g) Provisions relating to health and safety of the person employed
under the Tamilnadu Shops and Establishments Act, 1947.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of

law and decided cases. Give cogent reasons.

‘Ramesh was engaged by the State electricity board in fixing electric

wire on poles. While he was working beyond his duty hours under the
direction of line man to complete the job, a bus came at a high speed and
dragged the electric wires hanging on the road resulting in his death.
His widow claimed compensation from the electricity board. But the
electricity board took the plea that the accident took place after the duty
hours — Decide.

"A Partnership firm carrying on offset printing was dissolved by a deed.

One of the partners named Kumar, after the dissolution of the firm
promoted a Private Ltd Co. He carried on offset printing after obtaining
fresh lease in the same premises in which the dissolved firm carried on

business. Kumar claimed infancy protection for the newly formed

company. But the Provident fund commissioner refused on the ground
that the newly established company was a part of the old firm. Kumar
approaches the High Court — Decide.

The emfoloyee‘ of the transport corporation was not paid his gratuity

after retirement. The controlling authority ordered the employer to pay
his gratuity with interest. The said order was also confirmed by the
appellate authority. The employer challenged the order on the ground |
that the employee was unauthorisedly occupying the quarters of the
corporation even after his retirement and has not paid rent at the
market rate — Decide.
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B.A., B.L. (Hons.)/B.Com., B.L.(Hons.) DEGREE(SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidate admitted from 2011 to 2014)
Fourth Year — Eighth Semester/Fifth Year — Ninth Semester
CYBER LAW AND FORENSICS

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

State the role of law in Cyber world and discuss how the issuds relating
to jurisdiction, applicable Laws and enforcement issues are decided in
Private International Law with the help of appropriate case laws.

Define Internet crime. Explain the manner in which it can be classified.

Define Digital Signature. Discuss the provisions relating to Digital
Signature and Electronic Governance under the Information Technology
Act, 2000. : '

PART B — (2 x 7 = 14 marks)
\ Answer TWO of the following in about 300 words each.

' State and explain Internet Advertising and its associated regulatory

igsues.
“IPR and Cyber Space” — Comment with'varioﬁs cases.

Explain the process of investigation and adjudication of cyber crimes in

India. : ' :
PART C —- (5 x 4 = 20 marks)

Write short notes on FIVE of the fo'lloivving’:.

(a) Mécha'nism of Paymeht of Electronic Funds.

(b) Cyber ethics.

[P.T.O.]




Answer TWO of the following by referring to the relevant provisions of law

10.

- unauthorized version of Macrosoft’'s products. Whether the case is

(¢} Cloud Computing.

(d) Software piracy.

(¢) Virtual banking oi)erations and related issues.
(® World Wide Web.

(g) Internet Service Provider.

PART D - (2 x 6 = 12 marks)

and decided cases. Give cogent reasons.

Quebec is a famous software company which produces software and
markets its products in its mame. It created its domain name as’
www.Quebec.com. The respondent Quebek carries its business in its
name and registered its domain name as www.quebek.com. The conflict
arouse between the two. Decide the case.

Singh, an engineer, was sent by his employer to I%ondon to develop a
software program for the company. Singh, instead of working for the
company, allegedly sold the source code of the program to a client in
London. Fix the legality.

Macrosoft, a giant software manufacturer, sued X and Co. for using

maintainable?
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B.Com.,B.L.(Hons.)lB.Com.,LL.B;(Hons.)IB.A.,LL.B.(Hons.)l
B.B.A.,LL.B. (Hons.)lB.C.A.,LL.B(Hons.)IB.A., B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

A (For the candidates admitted from 2011 to 2015)
Third Year — Sixth Semester/Fourth Year — Eighth Semester ‘
COMPETITION LAW

" Time : 24 hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.}

1.  Trace the circumstances that led to the repeal of the MRTP Act and the
formation of the Competition Act.

9. Explain the meaning of the term Dominant position and expound the
situation in which it would amount to abuse of Dominant position.

3. Discuss the extent to which regulating Combination helps in curbing
restrictive trade practices.

PART B — (2 x 7= 14 marks)
» Answer TWO of the following in about 300 words each.

4. Explicate the significant features of the Treaty on the Functions of the
European Union (TFEU).

5. Compare the features of the MRTP -Act with that of the Competition Act.
6. Expound the concept of horizontal and vertical mergers.
PART C — (5 x 4= 20 marks)
7. Write short notes on FIVE of the foliowing g |
(a) Ragavan Committee Report
(b) Bid- rigging. '
(¢) Predatory Pricing.

HERILLCE




(d) Unfair trade practices.
(e) Penalties imposed by Competition Appellate Tribunal.
(f) Cement cartelisation case. :

(g) Globalization and Competition.
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

B & C Jewellers were members of a Gold Trade Association. The Trade
Association imposed a stipulation that its members shall not sell Gold
below the rate announced by them and a threat of expulsion in case of
committing a breach of this rule. ‘B & C’ litigates opposing this. Decide.

In a franchising agreement a clause was included that the franchisee
will not deal in goods of a similar kind for a period of 4 years from the
date of expiry of the agreement within that city Jimits. This was
questioned by the franchisee. Decide.

A buyer of customized furniture included a clause in the purchase
agreement that the manufacturer is not to manufacture identical
furniture for any other buyer, without the prior consent of the said
buyer. Later the manufacturer brings action stating that this is a
restrictive clause going against healthy competition. Decide.
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H 1597 | HZA/HBEA

B.A., B.L. (Hons.) / B.Com,, B.L,, (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2013)
Fifth Year — Ninth Semester
LAW OF TAXATION

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each. .

Explain the scope of residential status of person and their liability to
pay tax according to the Income Tax Act, 1961.

Give an account of the deduction available undef the head business
income while computing the taxable income under the Income Tax Act,

1961.

Discuss various types of assessment ander the Central Goods and
Service Tax Act, 2017.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Discuss the stages of arriving at annual value under the head income

from House Property.
Discuss in brief various authorities under the Income Tax Act, 1961.

Define business under the Tamilnadu State Goods and Services Tax Act,
2017.

[P.T.O.]




PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following.

(a) Control and Management
(b) Profit-in-lieu of Salary.
(¢) Short term Capital Asset.
(d) TIncome from horce race.
(e) Minor’s income.

(® Input Tax credit.

(g) Compulsory registration under the Central Goods and Services Tax
Act 2017.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law.

Give cogent reasons.

Advise your client in the following circumstances.

(a) A undertakes funeral services. He transports deceased persons to
funeral places. Decide whether this amounts to supply of service or
not.

(b) A is a driver employed by B. He cleans the car of B. Decide whether
this amounts to supply of services.

State with reasons how the following attract income tax in India at the
hands of the recipient.

(a) Income from House property of a political party.

(b) Family pension received by the widow of a member of the armed
forces.

(c) Contribution to National Pension Scheme.

2 H 1597
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10. Xis a Government employee. His salary for the previous year 2017 — 18
is as follows.

(a) Basicpay Rs. 4,80,000/-
(b) Dearness Allowance Rs. 2,40,000/-
(0 House Rent Allowances Rs. 1,20,000/-
(d) City Compensation Allowance Rs. 60,000/
His expenses is as follows
(i) House Rent paid Rs. 1,80,000/-
i) LIC premium Rs. 80,000/-
(iii) Provident Fund Rs. 60,000/-

Calculate the taxable income for the previous year 2017 - 18.

3 H 1597
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Register No.

B.A.,B.L. (Hons)/B.Com,, B.L.. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 20 13)
Fifth Year — Ninth Semester

LAW OF CRIMES — II (CODE OF CRIMINAL PROCEDURE;
INCLUDING JUVENILE JUSTICE CARE AND PROTECTION ACT
AND PROBATION OF OFFENDERS ACT)

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words edch.

1. ‘The procedure of investigation is nothing but collection of evidence’ —
Argue,
2. “The judicial determination of guilt or innocence of a person is trial.

Examine the trial before Court of Sessions under the code.

e Discuss about the procedures for_appeal.
PART B — (2.x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

‘1. Discuss about the power and functions of Criminal court under the
Code.

5. FExamine the procedure and orders that can be passed and cannot be
passed against juveniles under the Juvenile Justice Act.

6. Discuss about the duties of Probation officer.
PART C — (5 x 4 = 20 marks)
7 Write short notes on FIVE of the following :
(a) Aquisitorial criminal justice system
- (b) Unnatural death

(¢) Warrants

[P.T.O.]




(d) Anticipatory bail

(e) Suspension of sentence

() Cancellation of maintenance
(g) Juvenile Justice Board.

_PARTD — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10,

and decided cases. Give cogent reasons.

Mr. A was arrested by the police on 24.4.17 and sent to judicial custody
on the same day for the commission of offence of kidnapping for ransom.
He filed the bail application before the High Court on 24.7.17. The High
Court directed Mr. A to file the bail application before approprlate court.
Advise Mr. A.

Mr. A along with other 5 accused were facing trial for the offence of

Robbery. During the pendency of the trial, Mr. A dled Decide the

maintainability of the trial.

Mr. X was charged with the offence of voluntarily causing grievous hurt
and criminal intimidation. During the course of trial PW-7 deposed that
he committed extortion also. The Public prosecutor altered the charges.
Mr. X challenged the validity of modification of charge — Decide.
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Register No.

B.Com., B.L. (Hons.)/B.A.,B.L., (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted during 2011 to 2014)
FifthYear -— Ninth Semester/Tenth Semester

CIVIL PROCEDURE CODE

Time : Z%hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
: ¢
“Vigilantibus non dormientibus jura subveniunt”- Explain.

Diseuss the conditions for the applicability of Res judicata. Distinguish

it from Res subjudice.

Explain the various modes. of execution of a decree.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in aboultl 300 words each.

“the death of a plaintiff or defendant shall not cause the suit abate if

the right to sue survives”. [llustrate.

- Discuss the provisions of the limitation Act relating to the acquisition of

Easement by Prescription.

Explain the provisions relating to. appearance of parties and

consequences of their non-appearance.

~ PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following.

(a) Foreign judgement
(b) Review



Answer TWO of the following by referring to the relevant provisions of law

10.

{c) Mesne profit

(d) Commission

(e) Set-off and counter claim
() Inherent power

(g) Affidavit.

PART D — (2 x 6 = 12 marks) -

and decided cases. Give cogent reasons.

Dinakar sues Ramesh for possession of property as owner basing his
claim on title. The suit is dismissed. subsequently Dinakar sues Ramesh
for possession of the same property as mortagagor. Ramesh claims that
the suit 1s barred by Res judicata. Decide.

In a suit filed by Raghu, the request of the defenddnt Shankar for
adjournment is rejected by the court and the suit is heard ex parte on
the date fixed by the court and a decree is passed. Advise the defendant.

‘A, a resident of Kancheepuram, borrowed Rs. 2 lakhs from ‘B’ a
resident of Chennai and received a promissory note at Chennai. ‘A’
failed to repay the money. ‘B’ wants to file a suit against ‘A’. Advise.

2 ; . - H 1524




Register No.

H 1525 : | HZD/HBEC

B.Com., B.L. (Hons.)/B.A., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2013)
‘Fifth Year — Ninth Semester

'LAW OF ELECTIONS

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

’

1.  Critically examine about the electoral reforms made in India so far in
order to achieve good governance.

2. Discuss the power and functions of the Election Commission under the
Constitution of India and the Representation of People Act, 1951. Does
the Election Commission have the power to de-register a political party
on any ground? ; :

3.  Examine the implication of social media in the Electoral process.
“ PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. With special reference to Kihota Hollohan V Zachilhu, discuss about
Anti-Defection law. '

5, Explain the ingredients of Section 9A of the Representation of People
et Alichils ;

6.  Discuss the constitutional principles for delimitation of constituencies in
India.




: PART C — (b x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Returning officer.
(b} Gerrymandering.
(¢) Recriminatory petition.
(d) Women Reservation Bill.
€ EVM and VVPAT.
(H Nomination paper.

(g) Disqualifications for voting.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons. ‘

‘X’ was accompanied by the Madathipathi of a temple and in his speeches
the Madathipathi exhorted his followers to vote for ‘X as he was a good
Hindu and a devotee of Goddess. Discuss whether it will constitute
electoral offence under the Representation of People Act, 1951.

‘2’ an independent candidate is elected to the House of people. Two
months later he joins with the leading political party. Would ‘Z’ be
disqualified under the 10t schedule of the Constitution of India?

11 MLAs in the Ruling party in a State wrote a letter to the Governor of
the state expressing their disillusionment with the corrupt Chief
Minister of the State. They also request the Governor to take necessary
action as the constitutional head of the state. Will the Ministers incur
disqualification under the Tenth schedule of the Constitution of India?

2 H 1525
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H 1526 HZY¥/HBEG

B.A., B.L. (Hons.)/B.Com., B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018,

(For the candidates admitted from 2011 to 2013)
Fifth Year — Tenth Semester
PRIVATE INTERNATIONAL LAW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

i,  Define Private International Law and discuss the ne?d for the
unification of Rules of Private International Law. ¢

9. What is Incidental Question? Explain various elements of the Incidental
GQuestion with the help of suitable illustrations.

3. Explain the Public Policy as a ground for the exclusion of Foreign Law.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Critically examine the concept of divorce under Private International
law.

5. Discuss the procedure for the enforcement of Foreign Arbitral Awards.

6. Discuss the jurisdiction and effect of Foreign Insolvency proceedings.

PART C — (5 x 4 = 20 marks)

7. Write short notes on Five of the following:
(a) Double Renvol
() Choice of Law
(¢c) Mode of discharge of Contract
(d) Forum Convenience
(e) Chaplin v. Bois.
(fy  Proof of Foreign Laws.

(g) Polygamous Marriages.

[P.T.0.]




PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law
and decided cases. Give cogent reasons.

8 William domiciled in France had married a woman Christina domiciled
in Ttaly. The marriage took place in Italy. At the time of marriage they
had planned to emigrate to New Zealand which they did four months
later. They lived in New Zealand for the next 10 years until the husband
died. Fix the matrimonial home with decided cases.

9. R an English woman domiciled at Germany, by an execution of Will left
all her property to her distant relatives to the exclusion of her only son.
The only son challenged the validity of the will. Decide.

10. X and Y two Indian Muslims acquired domicile of choice in England.
X filed a petition for judicial separation in England. Decide.

9 H 1526
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H 1603 _ HZG/HASA

B.A., B.L. (Hons.)/B.A., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATION, APRIL 2018.

(For the candidates admitted from 2011 to 2016)
Fifth Year — Tenth Semester/Third Year — Fifth Semester
| MARITIME LAW,
Time : 2% hours : Maximum : 70 marks
PART A — (2 % 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Define ‘Admiralty Law’ and its relation to common law and civil law.

2 Discuss the law relating to enforcement of maritime claims by actions in
rem and in personam. ‘

3. Examine the safety and security regulations at sea and in Ports.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

L

Explain limitation of ship owner’s liability.
5. Discuss the salient features of the Maritime Zones Act, 1976.

o
6. ‘Examine briefly the law relating to “High Seas”.
| PART C — (5 x 4= 20 marks)

7. Write short notes of FIVE of the following :
(a) International Sea bed Authority.
(b) - Sources of Maritime Law.
(¢) = Maritime liens and priorities.
(d) Maritime Piracy.
(e) Salvage.
() Ship Construction Rules.

(g) International waters.

[P.T.O]
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10.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following referring to the relevant provisions of law ‘

and decided. cases. Give cogent reasons.

Ship ‘A’ caused damage to another ship ‘B’ in collision. The owner of ship
‘B’ claimed compensation. Decide.

Due to the negligence of the master and crew there was a loss of cargo in
a ship. The owner of the ship wanted to limit the liability. Decide.

As per the towage agreement the tug owner has undertaken for
accelerating the voyage of a ship in distress. Decide whether maritime
lien in this case of towage is available? ;

2 et H 1603




Register No.

H 1588 HZH/HBEI

B.A,, B.L. (Hons.)/B.Com., B.L. (Hens.) ,
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2013)

Fifth Year — Tenth Semester
 INTERNATIONAL TRADE LAW
Wiime > 2 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in dbout 500 words each.

1. Briefly describe the various theories pertaining to International I'rade
Law.

2. “The present management of International Monetary Fund does not
reflect the realities of present global economic conditi(ms”' - Comment.

3. Doha development agenda has promoted “Win-Win mtuatmn for
developed and developing countries. Do you agree?
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in ahout 300 words each.
4. Exglicat-e the salient features of Anti-dumping agreement of WTO.

5. Bxamine the contribution of UNCITRAL to the development of
Internatwnal Trade Law.

6. - Explain the role of Committee on Trade and Environment (CTE) of
WTO in promoting sustainable development.-

PART C -—(5 x 4= 20 marks) -
7. Write short notes on FIVE of the following :

(a) National Treatment.
(b) MFN obligation.
(c) WIPO.




(d) Online dispute resolution.
(e} UNCTAD.
(f)  Doctrine of treaty of hierarchy.

(g) Doctrine of Institutional bias.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Government of Kananga and Government of Glaria are the members of
WTO. They have alsc committed to UNCITRAL model law and public
procurement. However the Government of Glaria is a party to WTO
Government Procurement Agreement and not Kananga.

The Government of Kananga orders huge procurement of SU 70
helicopters from Selaria for its air force. However the Glaria company
known as Glaria jet fighter alleges it has offered at much lower price
and better quality of jet fighters the same has not bebn considered by
Kananga. Glaria brings Suit against Kananga in DSB of WTO. Decide.

Balia is a developing country. There is a huge epidemic of dengue
prevalent. A pharmaceutical company known as ‘Hiser owns a patented.
medicine for dengue. Baltan Pharma company is a local company
registered in Balia request the Hiser to provide license to produce the
same at lower cost. Negotiations failed. The company applied: for

_compulsory license under the Balia patent Act - Decide.

Van Santo is a leading MNC relating to Genetically Modified crops. It
has conducted field trial for new genetically modified wheat variety

- known as ‘K8. Shiva Vanthana is an Environmental activist files Public

interest litigation contending that the activities of Van Santo is violation

of Convention on Biological Diversity and precautionary principle -

Decide.

2 H 1588
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H 1529 - [HB1C/CHBI1C

B.Com./LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
: APRIL 2018,

(For the candidates admitted from 2015 to 2017}

First Year — First Semester

PRINCIPLES OF MANAGEMENT AND HUMAN RESOURCE
MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
- Answer TWO of the following in about 500 words each. "

What are the importance of planning? Explain the steps in plénning.

9 FEnumerate the methods and challenges of performance appraisal and
explain the legal issues associated with performance appraisal.

3.  Critically evaluate industrial disputes and the settlements.
PART B — (2 x 7 =14 marks)
Answer TWO of the following in about 300 words each.
4. Explain the pioneers of Management thought.
Explain in detail — Maslow’s .theory of Motivation.
6., What are the functions of Trade Union?
PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
- (a) Forecasting and planning.
(b)- Components of Remuneration.
(¢) Human Resource Auditing.
(d) Information and Communicaﬁon Technology — HR.
(e) Principles of Staffing.
() Components of Management plan.

(g) Social security measures.

[P.T.0.]




PART D — (6 x 2 =12 marks)

Ansﬁer SIX of the following very briefly :

(a)
(b)
(©)

(d)

(e)
)
(2)
()

Span -of control.

Delegation.

Placement.

Scalar chain.

Organisational behaviour.
Job Enrichment.

Types of organization conflict

Trade Union.
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H 1598 HBATF/HB2A/HC2A/HD2A/CHB2A/CHC2A/CHD2A

B.Com., B.L. (Hons.) / B.Com., LL.B. (Hons.) / B.B.A., LL.B. (Hons:) /
B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candiddtes admitted from 2011 to 2016)
- First Year — Second Semester
BUSINESS ENGLISH

Time : 24 hours . 7 : Maximum : 70 marks

PART A — (2 X 12 = 24 marks).
- Answer TWO of the following in about 500 words each.

Explain.the importance and barriers of Communication.
What is Business Correspondence? Explain the importance of Business
Correspondence.

What is E-Communication? Bring out the changes and advancements in
the modern forms of communication.

: PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Write a letter to the manager of an insurance company requesting time
to pay your premium amount. :
Write a letter asking for an estimate of the cost of mstallmg central air
conditioning system in your. office.

Prepare an Agenda and Minutes of a meeting for a General Committee
Meeting.

PART C — (5 x 4= 20 marks)

Write short notes on FIVE of the following.

(a) Principles of communication

(b) What are the essential qualities of a good business letter?
(¢) Essentials of Agency Correspondence.

(d) Characteristics of a good report.

- () FAX machine.

() LSRW.

(gy Office Order.




e ]

PARTD —(6x2=12 marks)-
8. Answer SIX of -the following very briefly :
(a) Verbal comm'uﬁication.
(b} Grapevine.
(c) Complaint letter.
(d) LPG.
(¢) Internet and its uses.

(f) Write any four characteristics of Insurance.
(8) Menio. =%

Meeting.

it H 1598
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H 1534 | : HBAG

B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018,

(For the candidates admitted during 2013 and 2014)
First Year — Second Semester

PRINCIPLES OF MANAGEMENT
Time : 21 hours | Maximun : 70 marks
"PART A — (2 X 12 = 24 marks)
Answer TWO: of the following in about 500 words each.

1. Discuss the contributions of Taylor and Fayol ip the field of
Management thoughts.

2. Define Strategic planning. What are the steps involved in Strategic
planning? Explain.

3. Describe the types and techniques for excellent co-ordination.
PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each. .
4.  Explain the techniques of control.

5. Discuss the role of a Manager and the important functions of
Management.

6. Explain the salient features of Bar Council of India Rules, 1873.
' PART C — (5 x 4 = 20 marks)
- 7. Write short notes on FIVE of the following.

(a) Distinguish between formal and informal organization.
(b) | Explain the Concept of Decentralization.

() Define Span of control. Explain the factors that influence the
effectiveness of span of control. -

(d) List out and explain the elements of organizational structure.

[P.T.0.]




(e) Explain the recent trends in management thought.
(f) Explain briefly the sources and limitations of authority.

(g) Kxplain the concept of departmentalisation by different strategy.

PART D — (6 x 2 = 12 marks)

8.  Answer SIX of the following very briefly.
(a) Levels of management.

(b) Father of scientific management.

(¢) Organizational objectives.

(d) Strategy.

(e) Advantages of matrix organization.
(f) Leadership.

(g) Functions of managers.

(h) Motivation.
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H 1530 HB2B/CHB2B

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS, |
APRIL 2018.

(For the Candidates admitted from 2015 to 2017)
First Year — Second Semester

PRINCIPLES OF ACCOUNTING

Time : 2% hours Maximum : 70 marks
PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Following balances have been extracted from the books of dJenis
Company Litd. as on 315t March 2014,

Particulars Dr. Cr.
Rs. Rs.
Machinery _ 1,60,000
Land and Buildings 6,74,000
Dep. on machinery ' 16,000
Purchases (adjusted) 4,006,000
Closing stock 1,50,000
> Wages - 1,20,000
Sales 10,00,000
Salaries 80,000
Bank overdraft 2,00,000
10% debentures (issued on 15t April 2013) 1,00,000

Equity share capital-shares of Rs. 100 each _

(fully paid) 2,00,000
Preference share capital — 1,000

6% shares of Rs. 100 each (fully paid) | 1,00,000

[P.T.0O.]




‘ﬁ

The Board of Directors of Jenis Company Ltd had decided to make
the following appropriations -

{a) to declare an equity dividend @ 10% on paid up capital
(b) to pay dividend on the preference share capital in full.
() totransfer Rs. 2,00,000 to general reserve.

Prepare statement of profit and loss for the yvear ended
31st March 2014 and the Balance Sheet as on that date. Ignore
the Income tax.

2. Babu and Co. presents the following financial statements for 1988 and
1989. Prepare a sources and application of funds statement.

Balance Sheet

Liabilities 1988 1989 Assets 1988 1989
Bills payable 4,52,000 6,28,000 Cash 1,06,000 62,000
Creditors 8,26,000 12,54,000 Investment 1,74,000 -
Loan from Bank 2,00,000 470,000 Debtors 6,92,000 10,56,000
Reserves and surplus  13,84,000 17,28,600 Stoclk 8,64,000 13,66,000
Share capital 12,00,000 12,00,000 Net fixed
assets 22,26,000 27,96,000
40,62,060 52,80;,000 40,62,000 52,80,000

Depreciation of Rs. 3,78,000 was written off for the year 1989 on fixed
assets.

3. Describe the advantages and limitations of financial accounting.
PARTB —(2x7 =14 marks)

Answer TWO of the following in about 300 words each.

4. A Band Care in partnership sharing profits and losses in the ratio of
9:6:5. Their balance sheet stood as follows :
Liabilities Rs. Assets Rs.

Sundry creditors 15,000 Sundry assets 80,000

Capital accounts

A 20,000
B 20,000
C 15,000
Profit and loss a/c 10,000
80,000 80,000
2 H 1530
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C retires and a revaluation loss of Rs. 2,000 is visualised. The
goodwill of the firm is Rs. 20,000 and the remaining partners
A and B pay for the share of goodwill due to C, so as to keep the
goodwill as a secret reserve. Write up the capital account of the
outgoing partner C and transfer it to C's loan account.

Distinguish between Amalgamation, Absorption and External
Reconstruction with suitable examples.

g. Calculate the trend percentages from the following figures of X Ltd,,
taking 2002 as the base.
Year Sales Stock Profit before tax

2002 1881 709 321
2003 2,340 781 435
2004 2,655 816 458
20056 3,021 944 527
2006 3,768 1,154 672 i

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following.

(a) Compute the Debtors turnover ratio from the following :

Rs.
Gross sales 1,42,000
Cash sales 28,000
Sales returns 14,000
Opening Debtors ' 15,000
> Opening Bills receivable 5,000
Closing debtors - 26,000
Closing Bills receivable 4,000

(b) What is meant by cash flow statement? Write the advantages.
(¢) What are the sources of dividend?

(d) Guha Ltd. was formed to acquire the businesses of Bharath Ltd.
and Sarath Ltd. Sarath Ltd. had a share capital of Rs. 5,00,000 and
General reserve of Rs. 2,00,000. It accepted a purchase
consideration of Rs. 6,35,000. Bharath Ltd’s capital was
Rs. 16,00,000 and Reserves Rs. 7,00,000 and agreed upon purchase
price was Rs. 22,30,000. Determine the reserves to be shown in the
books of Guha Ltd., if the amalgamation is in the nature of merger.

3 H 1530




8.

(e)

(0

(g

The liquidator of a Company is entitled to a remuneration of 2% on
assets realised and 3% on the amount distributed to unsecured
creditors.

The assets realised is Rs. 1,00,000 including cash balance of
Rs. 3,000. Amount available for distribution to unsecured creditors
before paying Liquidator’s remuneration was Rs. 46,350. Calculate
the remuneration payable to Liquidator.

A fire occurred in the premises of a merchant on 15.6.1989 and a
considerable part of the stock was destroyed. The value of stock
saved was Rs. 4,500. The books disclosed that on 1.4.1989 the stock
was valued at Rs. 36,750. The purchases to the date of the fire
amounted to Rs. 1,04,940 and the sales Rs. 1,56,500. On
Investigation it was found that during the past five years the
average gross profit on sales was 36%. Calculate the claim to be
made. :

Write down the main features of hire purchase system.

’
PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)

(©)
(d)

(e)

®

(@
(h)

What is meant by contingent liability?

X purchased a typewriter on hire-purchase system. As per terms,
he is required to pay Rs. 800 down, Rs. 400 at the end of first year,
Rs. 300 at the end of second year and Rs. 700 at the end of third
year. Interest is charged at 5% p.2. Calculate the total cash price of
the typewriter and the amount of interest payable on each
instalment,

What are the modes of dissolution of a partnership firm?

A and B are partners sharing profit/losses in the ratio of 3:2. C is
admitted for 1/4t%h share. A and B decided to share equally in
future. Find the sacrificing ratio.

Suguna Co. Ltd. has been suffering heavy losses in the past. So it
has decided to go for reconstruction scheme by reducing 22,000
equity shares of Rs. 100 each into Rs. 50 each so as to write off
accumulated losses of Rs. 10,70,000. Give journal entries to record
the above transactions.

Who are Preferential Creditors?
Give the format for schedule 15 in Bank accounts.

Current Ratio — 2.5; working capital — Rs. 60,000. Calculate the
amount of current assets and current liabilities.
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H 1495

B.A., B.L. (Hons.)/B.A.,LL.B. (Hons.)/B.Com.,B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011 to 2017)
First Year — Second Semester

POLITICAL SCIENCE - I (POLITICAL THEORY)

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. “Political Science starts with State and ends with the State” — Blucidate.

9.  Write an essay on the Presidential form of Government.

3. Explain Rousseau’s theory of Social contract.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Sovereignty means ‘Supreme power over citizens and subjects
unrestrained by laws’ — Explain.

5. Explain the three distinct phases in the evolution of human rights at the
> International level.

6. Examine the functions of the legislature.
!

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(a) Political Science and Sociology.

(b) Matriarchal Theory. -

(¢) Correlation of rights and duties.

(d) John Austin.

(e} Feminism.

() Classification of Modern Governments.

(g) Facism.
[P.T.0]




I/

Answer SIX of the following very briefly :

(a)
(b)
(©
(d)
(e)
@
(8)
(h)

PART D - (6 x 2 =12 marks)

Traditional approach.
Classification of sovereignty.
Constitutional protection of rights.
Marxian thought.

Unicameral legislature.

Plato.

Separation of powers.

Federal government.

H 1495
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B.B.A.,, LL.B.(Hons.)/B.C.A., L1.B. (Hons.)/B.Com., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2017)

First Year — Second Semester

SOCIOLOGY
’i"mle : 24 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.}

1 Explain Unity and diversity and discuss the various nature of
diversities in India. : ;

2. Highlight the causes for the changes in caste system in Indian society.
3. Describe the characteristics and functions of Social stratification.

. PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4, Enumerate the factors facilitating Social_ deviance. |
5. Write a note on the role played by Self Help Groups (SHGs).

6. Bring out the differences between the Primary group and Secondary
group.
| PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following : .
(a}. Industrial refrolution-
(b) Control by religion
{¢) Types of polygyny
(d) Ascribed status

E.T.O;] :




(e)
®
(&)

Communalism
Importance of kinship

Secondary functions of family.
PARTD —(6x2=12 marks)

Answer SIX of the following very briefly :

@

®

©
(d)
(e)
®
(2
(h)

Affinal kin
Gesellschaft
Emotional unity
Monogamy

Informal social control
Group marriage

Caste Panchayat
Medieval India.
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H 1533

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
- APRIL 2018.

(For the candidates admitted during 2015) ‘
Second Year — Third Semester |

FINANCIAL MARKET AND INDIAN ECONOMIC ISSUES
Time : 23 hours | | | Maximum : 70 marks
PART A — (2 X 12 = 24 marks) ‘
Answer TWO of the following in about 500 words each. 1]

1. Define financial services. What are various kinds of financial services |
provided by banks and financial institutions? - !

9 Qive a detailed account on various schemes of mutual funds.
3. Explain the methods of calculating National Income. |
PART B — (2 x 7= 14 marks) l
Answer TWO of the following in about 300 words each. |
4. Explain the problems of financial services sector in India. “

5. Discuss the causes of unemployment in India.

6. Write notes on :

(a) Land reforms
(b) Agricultural marketing ‘
PART C — (5 x 4 = 20 marks) il

7 Write short notes on FIVE of the following :
(a) Elucidate the growth of venture capital in India.
(b) What are the functions of Merchant banking? { "
(¢) Write detailed notes on NSDL and CDSL. !
(d) Explain the characteristics of Indian economy.

(e) What are the limitations in National income estimation? 1

[P.T.0.] ; |‘




(f) List out and explain the problems of Small Scale Industries in

9]

India.

Explain the consequences of over population.

PART D - (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)
()
®

(g)
(h)

Stock broking.

Share and mutual fund unit — Difference.
Consumer finance.

SEBL

Demat services.

Money laundering.

HDI.

Industrial dispute.
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B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2013 and 2014)
: Second Year — Third Semester
FINANCIAL MARKET AND SERVICES

piia el l hours : : Maximum ; 70 marks

~ PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Explain the role and functions of financial system in India.
9. Rvaluate the working of private and public 'mutual-fund.s in India.
o lDiscuss the legal aspects and gtiidelines for venture capital.
PART B - (2x7=14 marks)
Answer TWO of the following in about 300 words each.
4. Explain t_he imp’ortzince of factoring services.
5. Describe the functions of NBFC's.
6. Evaluate the importance of listing.
_ PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following :
(a) Whatis a Stock Exchange? :
(b) Explain the term “Money Laundering”. '
(c) List out the benefits of credit rating agencies.
(d) List out the money market instruments.
(e) Briefly explain theJ term “Debt Securitisation”.
6] Givé a brief note on “Forex”.

(2 Role of SEBI.

[P.T.O.]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
®

()
(h)

What is capital market?

Write a short note on “Leasing”.
What is De-Mat account?

Leasing vs BorroWiﬁg.

What is meant by “Bills discounting”?
State any two objectives of Insurance.
CRISIL

NSDC.

H 1589
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HB3A/HC3A/HD3A/CHB3A/
CHC3A/CHD3A]

B.Com., LL.B. (Hons.)/B.B.A., LL.B (Hons.)/B.C.A., LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2015 to 2016)
Second Year — Third Semester

POLITICAL SCIENCE

Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Define sovereignty and discuss its characteristics.

2.  Examine the various kinds of Rights.

3. Define National power and discuss its elements.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. Examine the important features of Presidential government.

5"  Enumerate the role of Human Rights Council.

6. Evaluate the impact of second World War rephrasing.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following:

()
(b)
(c)
(d)
(e)
®
(2)

Political Science and History.

Modern approaches to the study of politics.

State

Justice

C.F. Strong’s classification of Modern Governments
Liberalisation

Plato’s Republic

[P.T.O.]



PART D — (6 x 2 = 12 marks)

Answer SIX of the following very Briefly.

(a)
(b)
()
(d)
(e)
(£)
(g)
(h)

Force theory

Legal theory of rights
General assembly of U.N.O.
Uni polar world

Six principles of Realism
Federal Government
Thomas Wolsey
Non-Aligned Movement.
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H 1537 _ | HBBH

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2013 and 2014)
Second Year — Fourth Semester
INDIAN ECONOMICS AND HUMAN RESOURCE DEVELOPMENT

Time : 2—12—h0u1's' : Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  What is HHRD? List its characteristics and explain the role of HRD in

Indian Industries.
9. Define agricultural credit. Describe the role of NABARD in minimising
rural indebtedness. ' :

3. Define National Income. Fit a trend line using Moviﬁg average method
for the following series of National Income statistics and list the

weakness in NI estimation
NI (in crores)
199900  17,92,292
2000 -01  18,70,387
2001 - 02 19,_78,055
2002 - 03 20,562,586
2003-»— 04 22,26,041

2004 —-05  23,93,671

[P.T.0.]




PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

List the factors determining HDI. And give the features of 2000

population policy.

Explain the structure of agricultural marketing in India.

Write the problems of tenancy cultivation. And list the measures taken
by the Govt. to overcome such problems.

PART C —- (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(©)
(d)
(e)
®
(e)

Causes for inequalities in income and wealth.

Role of public sector.

Problem of agricultural labour. i
ESI Act.

NREGA

Industrial dispute.

Board of conciliation.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
()
(e)
6
9]
(h)

Poverty Gap.

LBS.

DEARE..
Disablement.
Outside leadership.
Micro finance.

Security tenure.

NCDC.
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~ H 1545

B.Com., LL.B., (Hons.)/B.B.A., LL.B., (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2015 to 2016)

Second Year — Fourth Semester

MANAGERIAL ECONOMICS

Time : 2+ hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks) °

s

Answer TWO of the following in about 500 words each.

Explain the basic economic theories that are applied to managerial

decision-making.

What do you mean by Monopoly? How price and output are determined

in short and long run in monopoly market?
“JFxamine the application and uses of the theories of production function.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in ahout 300 words each.
Why does demand curve slopes downwards from left to right?
What are the properties of ISO cost curve?

State Accounting profit Vs. Economic prdﬁt.

e




.

PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following:
(a) Competition Act 2002

() Production Possibility curve

(c) Difference between Internal economies and external economies.

. (d) Quantitative and Qualitative technigues.

(e) Risk and uncertainty theory
(f) Constant elasticity of substitiution function

(g) Steps for decision-making.
PART D — (6 x 2 = 12 marks)

Answer SIX of the followi-ng very briefly.
(a) Capital management

(b) Geometric method

(¢) Explicit cost

(d) Expansion path

(e) Marginalism

(f) Selling cost outlay -

() Regression

(h) Mark up pricing.

H 1545
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L]
B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
: EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2013 to 2016}
Third Year — Sixth Semester/Second Year — Fourth Semester
COST AND MANAGEMENT ACCOUNTING

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. A manufacturing company submits to you the following dethils about
the various expenses incurred by it during the year ended 31 December
1985:

Cost-of raw materials consumed Rs. 25,000
Advertising Rs. 1,000

Depreciation on plant and machinery Rs. 1,500
Factory office salaries Rs. 6,000

Legal expenses Rs. 300

Supervisor’s salary Rs. 5,500

Factory rates and insurance Rs. 1,000
Carriage outwards Rs. 1,500

Direct labour Rs. 20,000

Bad debts Rs. 300

Office stationary Rs. 200

Rent of factory Rs. 2,500

Office salary Rs. 10,000

Commission on sales Rs. 4,600

Audit fees Rs. 300

Income tax Rs. 1,500 _

Donation to charitable institutions Rs. 500
Purchase of new plant Rs. 10,000

Classify the above expenses under the various heads of cost, showing
separately the total expenditure under each head. Also show separately
those expenses which shall not be included in calculating the cost.

[P.T.O.]




Discuss the causes for labour turnover and the methods to measure
labour turnover.

Krishna producing concern is divided into four departments. A, B and C
are production departments and D is a service department. The actual
expenses for a period are as follows:

Rs. -
Rent 10,000
Repairs to plant 6,000
Depreciation of plant 4,500
Lighting expenses 1,200

Supervisory expenses 15,000
Fire insurance (on stock) 5,000

Power 9,000
The following information is available in respect of four depts.
Departments

A B C D
Area (sq.ft) 1,500 1,100 900 500
Horse power of plant 20 15 10 5
No. of employees 200 150 100 50
Total wages (Rs.) 60,000 40,000 30,000 20,000

Value of plant (Rs.) .2,40,000 1,80,000 1,20,000 60,000
Value of stock (Rs.) 1,50,000 90,000 60,000 =

Apportion the costs to the various departments on the most equitable
method. i

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

In a factory, three components ‘P, ‘Q and ‘R’ are used as follows

Normal usage 900 units per week each
Maximum usage 1,350 units per week each
Minimum usage 450 units per week each
Re-order quantity P — 7,200 units

Q — 9,000 units
R — 10,800 units
Re-order period P — 2 to 4 weeks
Q - 4 to 6 weeks
R - 3 to 5 weeks

- Compute for each component re-order level, maximum level, minimum
level and average stock level.

2 ' ‘ H 1591




With the following data for 60% activity, prepare a budget at 80%
activity

Production at 60% capacity —~ 600 units
Materials o Rs. 100 p.u
Labour ~ Rs.40p.u
Direct expenses — Rs. 10p.u
Factory expenses - Rs. 40,000 (40% fixed)
Administration expenses —  Rs. 30,000 (60% fixed)

Distinguish between financial accounting and cost accounting.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following
(a) Briefly explain the different methods of costing.

(b) Compute works cost from the following where indirect wages are
50% of direct wages; indirect materials are 50% of direct materials;
and indirect expenses are 100% of direct expenses

Direct expenses 10,000

Direct wages 30,000

Direct materials 10,000

(¢} Record the following transactions in a stores ledger as per the
FIFO method of pricing the issues of materials
1.1.92 opening balance 500 units at Rs. 4
5.1.92 Purchases 200 units at Rs. 4.25

 12.1.92 Purchases 150 units at Rs. 4.10
20.1.92 Purchases 300 units at Rs. 4.50
95.1.92 Purchases 400 units at Rs. 4.00 |
Issues |
8.1:02 200 units 19.1.92 100 units
10.1.92 400 units 26.1.92 200 units
15.1.92 100 units 30.1.92 250 units

(d) What are the advantages of ABC analysis?

() From the following information given below, caleulate the earnings
of three workers X, Y and Z under Gnatt’s task bonus plan.

(i) Time rate : Rs. 15 per hr
(i} High task per day of 8 hrs : 80 units
(iii) High piece rate : Rs. 2 p.u
" (iv) Day’s output : X : 70 units ; Y — 80 units; Z — 90 unats.

3 : : H 1591
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Explain different kinds of overhead absorption rates

Sales : Rs. 1,00,000; Profit : Rs. 10,000 and variable cost 70%. Find
out : (i) P/V ratio; (ii) Fixed cost; and (iii) Sales to earn a profit of
Rs. 40,000.

PART D — (6 x 2 = 12 marks)

Answer SIX of the féllowing very briefly :

(a)

(b)

9]

(d)

(e)

®
(®)

(b)

From the following data, calculate, (i) P/V ratio and (ii) Profit
Rs.

Sales 20,000
- Fixed expenses 4,000
Break —even point 10,000

‘What is a budget?

What is meant by absorption of overheads?

Ascertain the machine hour rate of absorption of overheads from
the following details

Works overheads Rs. 5,00,000
Machine hours 1,00,000.

A worker earns Rs. 2 as bonus on a job which requires 20 standard
hours at Re. 0.50 per hour under Halsey incentive system based on
50:50. What would be his earnings under Rowan plan" :

What is meant by abnormal idle time?

Z Ltd. used raw materials X during the accounting year

amounting to Rs. 4,00,000. The value of opening stock was Rs.

40,000 and the value of closing stock was Rs. 60,000. Calculate
stock turnover ratio.

Compute the cost of raw materials purchased from the data given
below :

Rs.
Opening stock 10,000
Closing stock 15,000
Expenses on purchase 5,000
Direct wages 50,000

Prime cost 1,00,000
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H 1538 HBCA/HB4A

B.Com., B.L. (Hons.) / B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2013 to 2015)
Third YVear — Fifth Semester / Second Year — Fourth Semester
MARKETING MANAGEMENT
Time : 2% hours f l_ . Maximum : 70 marks
PART A —— (2 x 12 = 24 marks)
Answer TWO of the follbwing in about 5-00 words eéch.

1. What is New product development? Explain the various stages involved
in New product development. : ’

9, Critically analyse the key environmental factors that affect marketing.

3. Define Advertising. Explain the various media of advertising with their
relative merits and demerits.

PART B — (2 x 7 = 14 marks)
Anﬁwer TWO of the following in about 300 words each.
4., What are the stages of Product Life Cycle? Briefly explain.
5., Describe the different stages of Buying Behaviour.

6.  Explain the conceptual framework of Marketing.

PART C — (5% 4 = 20 marks)

7. Write short notes on FIVE of the following;:
(a) Name the Maglow’s hierarchy of needs.
(b) What are the components of Marketing mix?
(c) Whatis product? Mention any Two characterigtics. .
(d) Differentiate Buying by sample from Buying by inspection.
(¢) What are the types of Brand?
(f) What are the duties of a salesman?

(g) What are the importance of Personal Selling?

[P.T.0]




(b)
(c)
(d)
(e)
®
(e)

()

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.
5@

Marketing Management ;
Positioning

Hand to mouth Buying
Packaging '

Sales Promotion
Demarketing ‘
Compensation

Targeting.
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H 1590 | : [HBCB/HB5A

B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018,

(For the candidates admitted during 2013, 2014 and 2015)
Third Year — Fifth Semester
FINANCIAL MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A -— (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. Explain the role of Financial Manager in financiai managem?nt.

9. A company having equity share capital of Re. 4,00,000 divided into
shares of Rs. 100 each. The company wants to raise additional fund of
Rs. 2,00,000 for its diversification programme. )

The company has following alternatives for raising the fund :
Planl: Issue of 20,000 equity shares of Rs. 100 each.

Plan II : Issue of 20,000 preference shares of Rs. 100 each.
Plan TII ¢ Issue of 10% debenture of Rs. 100 each. '

The rate of preference dividend is fixed at 12% and the rate of corporate
tax is 50%. The expected level of EBIT is Rs. 1,00,000.

Advise the company to select the best plan.

3 A firm has the following capital structure and after tax costs for the
different sources of funds used.

Sources of fund Amount  Proportion  After-tax cost
Debt 15,00,000 I A 5%
Preference shares 12,00,000 20% 10%
Equity shares 18,00,000 30% : 12%
Retained earnings -~ 15,00,000 25% 11% .

- You are required to compute weighted average cost of capital.

[P.T.0.]




PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Explain the different sources of short term finance.

A company has the following facts
Cost of capital (Ko) = 10%

Earnings per share = Rs: 10

Rate of return on investment = 8%

If dividend pay-out ratio are 50% and 25%, show the efféct of the

- dividend policy on the market price of the shares.

From the following data, compute the duration of operating cycle for
each of the two years and comment on the increase/decrease.,

Year I Year IT

Rs. Rs.
Stock : “
Raw materials 20,000 27,000
W/P 14,000 18,000
Finished goods 21,000 24,000
Purchases 96,000 1,35,000
Cost of goods sold  1,40,000 1,80,000
Sales 1,60,000 2,00,000
Debtors 32,000 50,000
_ Creditors 16,000 18,000

Assume 350 days per year for computational purposes.

PART C - (5 x 4 = 20 marks)

Write short notes on FIVE of the following.

(a)

(b)

A company issugad 10,000, 10% preference share of Rs. 10 each, cost
of issue is Rs. 2 per share. Calculate cost of capital if these shares
are issued (i) at par (ii) at 10% premium and (iii) at 5% discount.

X Litd. is expecting an annual EBIT of Rs. 1,00,000. The company
has Rs. 4,00,000 in 10% debentures. The cost of equity capital or
capitalization rate is 12.5%. You are required to calculate the total

- value of the firm under NI approach

2 ; H 1590
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(c)

(d)
(e)
(9
(2

A firm issues debentures worth Rs. 1,00,000 and realizes
Rs. 98,000 after allowing 2% commission to brokers. They carry an
interest rate of 10% and are due for maturity at the end of 10tk
year. The company has 40% tax bracket. Calculate cost of debt
after tax. |

‘Mention any four usage of cost of capital.
List out the factors that affect a firm’s dividend policy.
Explain the causes for excessive working capital.

From the following information relating to XYZ Ltd. calculate
(i) operating cycle (i) no. of operating cycles in a year assuming a
360 day year. °

Stock holding : Raw material — 2 months, W/P — 15 days, Finished
goods — 1 month, Average debt collection period — 2 months,
Average payment period — 45 days.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(©)
(d)

()
9
(2)
(h)

Finanecial management.
Financial leverage.
Cost of retained earnings.

Calculate the working capital from the following. information :
Land and Building Rs. 1,50,000, Plant Rs. 1,40,000, Stock
Rs. 60,000, Debtors Rs. 80,000, Cash Rs. 40,000, Creditors
Rs. 80,000 and Bills payable Rs. 20,000.

‘Net working capital.

Optimum capital structure.
EPS.

Factors affecting dividend payment.
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Register No.

B.Com., B.L. (Hons.)/B.Com., LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, APRIL 2018,

(For the candidates admitted from 2013 to 2015)
Third Year — Sixth Semester/Fifth Semester
PRACTICAL AUDITING

Time : 2+ hours Maximum : 70 marks

oW

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

What are the classes of an audit? Briefly discuss thé merits and
demerits of any two of them.

Tnumerate the documents you would require to vouch sales, -

Briefly describe depreciation audit and the audit objectives of
depreciation audit.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Describe the various rights conferred upon a company auditor.

What is meant by Computer Assisted Audit Techniques (CAATS)?
Explain its types.

Explain the qualities of an auditor.

PART C — (5 x 4 = 20 marks)

 Write short notes on FIVE of the following :

(a) Distinguish between auditing and accountancy.
(b) Contents of working papers.
(¢) What is travellers commission? How it ig vouched?

(d) Distinguish between reserves and provisions.

| [P.T.O.]




(e) Who fixes the remuneration of company auditor?
® Kinds of audit report.

(g) Briefly explaiﬁ the impact of computerization on audit approach.
PART D — (6 x 2= 12 marks)
Answer SIX of the following very briefly :

(a) Interim audit

(b) Audit programme

" (¢) Audit note book

(d) Routine checking

(e) Vouching of bank charges
) Valuation of stock

(g) First auditor of a company

(h) Auditing around the computer. _ '
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Register No.

B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2013 and 2014)
Third Year — Fifth Semester
COMPANY LAW

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

“The main feature and facet of the Doctrine of Ultra vireg is that a
company being a corporate person should not be fined or punished for its
own acts or acts of its agents, if they are beyond its powers and

privileges” — Discuss.

Who are liable for mis statements in a Prospectus? Explain the extent of

civil and criminal liability for such mis statements.

Explain the circumstances in which a Company may be wound up by the

court.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

Discuss the relationship between the Articles and the Memorandum of

Association of a company.

Describe briefly the procedure for effecting the conversion of a Private
company into a Public company. How does a private company differ

from a public company?

“The company itself cannot act in its own person, for it has no person, 1t

can only act through directors” — Discuss.

[P.T.O]




PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Resolution

(b) Doctrine of constructive notice

(¢) Auditors

(d) One person company

(e) Certificate of incorporation

(f) National Company Law Tribunal.

(g) Floating charge.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Prem Paul applied for 100 shares in a company in a fictitious name. The
shares were allotted in the fictitious name. Did he incur any hiability
under the Companies Act?

The promoters of a company, before its Incorporation, enter into an
agreement with P to buy a plot of land on behalf of the company. After
incorporation, the company refuses to buy the said plot of land. Has
P any remedy either against the promoters or against the company?

The Articles of Association of a company provided that B would be
appointed as a Director and he will not be removed until there is a
misconduct on his part. But he was removed without any misconduct.
He sued the company for breach of contract — Decide.

2 H 1539
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H 1593 : HC1C/CHC1C

B.B.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2017)

First Year — First Semester

BUSINESS MANAGEMENT AND ETHICS
Time : 21 hours ~ Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the different methods of appraising the performance of
subordinates.

2. Define Management. Bring out the concept of Scientific Management by
FW. Taylor.

3. What is Departmentation? FExplain the  various bases of
- Departmentation.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
4.  Explain the various theories of Leadership. ‘
‘Q’. Briefly describe social responsibilities of business.
6. Describe the nature and significance of decision making.
'  PARTC.— (5 x 4= 20 marks)

7.  Write short notes on FIVE of the following :
~ (2) Explain the characteristics of effective control.

(b) Discuss the advantages of line and staff organisation.
(c) Explain procedure and methods as standing plans.
() What is meant by delegation of authority?

() State the importance of Directing.

(f) Write a note on ‘Confidential Report’.

() Mention about the law enacted in India to protect the Interest of
buyers.

[P.T.0]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
©
(d)
(e)
®
(g)
(h)

Nominal Group Technique.
Define Span of management.
Liaison Officers.

Scalar chain.

Sideway Delegation.

Adhoc Committee.
Decentralisation.

Black marketing.

H 1593
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H 1543 | e - [He2B/CHC2B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2017)

Tirst Year — Second Semester

HUMAN RESOURCE MANAGEMENT AND ORGANISATIONAL
BEHAVIOUR

Time : 2+ hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each}

Describe briefly the various functions of human resource management.:
2.  FElaborate the determinants of compensations and rewards.

3. Descrlbe on the job’ training methods.

PART B — (2 x = 14 marks)
Answer TWO of the following in about 300 words each.

4.  Critically examine the need for hierarchy theory of motivation
propounded by Abraham Maslow.

5., Describe the various stages involved in selection process of an employee.

Describe the modern methods of performance appraisal.

PART C — (5 x 4 = 20 marks)
7. Write short notes on FIVE of the follow'ing ”
(a)y Types of organisational culture : ; .
(b) Determinants of personality | :
(¢) Characteristics of collective bargaining .
(d) Nature of motivation s
(e) Merits of BARS method

(f) Distinguish between recruitment and selection

(g) Roles of a HR manager.

.|



PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
e
(2)
(h)

Human resources as factors of production
Need for human resource policies.
Long-term planning

Aptitude tests

Non financial incentives

Employees worth

Job evaluation

Off-the-job training.

H 1543
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H 1544 HC3B/CHC3B

B.B.A./LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2015 and 2016)
Second Year — Third Semester
FINANCIAL AND MANAGEMENT AC COUNTING

Time : 24 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1.  From the following Trial Balance of Ravi, prepare Trading and
Profit/Loss Account for the year ended December 31st 1993 and a
Balance Sheet as on that date.

Particulars Debit Credit

Rs. Rs.

Capital - 40,000
Sales — 25,000
Purchases 15,000

\ Salaries 2,000

> Rent 1,500
Insurance 300
Drawings 5,000
Machinery 28,000
Bank 4,500
Cash 2,000
Stock (1.1.93) 5,200
Debtors 2,500
Creditors — 1,000

66,000 66,000




Adjustments :

(a) Stock on 31.12.93 Rs. 4,900
(b) Salaries unpaid Rs. 300

(c) Rent paid in advance Rs. 200
(d) Imsurance prepaid Rs. 90

A and B were partners sharing profits and losses in the ratio of 2:1,
Their Balance sheet as on 31.12.2003 was as follows :

Liabilities Rs. Assets Rs.
Creditors 65,900 Debtors 1,200
Capital : Cash 9,700
A 30,000 Stock 20,000
B 20,000 Machinery 35,000
Building 50,000
1,15,900 1,15,900

They decided to admit “C” as a partner for 1/37d share in the profits of
the firm, subject to the following conditions :

(a) ‘C should bring in Rs. 15,000 as his capital

(b) The value of stock and machinery be depreciated by 10%

(¢) The provision of 5% on Sundry debtors be made for doubtful debts
(@) The value of buildings be appreciated by Rs. 9,500

Pass journal entries, prepare necessary ledger accounts and
Balance Sheet after C’s admission.

Differentiate Management Accounting from Financial Accounting. Also
list out the functions of Management Accounting.

PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
What is NPV? How is it computed?

Prepare Trial balance from the following ledger balance for the year
ending 31.12.99.

Rs.
Capital 9,000
Plant 12,000
Purchases 8,000
Sales 12,000
2 H 1544




6.

Rs.
Sundry creditors 8,000
Bank Loan 22.000
Rent outstanding 1,000
Opening stock 2,000
Sales returns 4,000
Investments 14,000
Debtors 12,000

Prakash keeps his books by the “Single entry method”. His position on
31.12.1987 and 31.12.1988 was as follows :

1987 1988

Rs. Rs.
Cash in hand 200 300
Cash at Bank 3,000 2,000

Stock in Trade 20,000 19,000 :
Sundry Debtors 8,500 14,000
Furniture 1,800 1,500
Plant 15,000 27,000
Sundry Creditors 22,000 29,000

During the year Prakash introduced Rs. 5,000 as further capital and
withdrew Re. 750 per month.

From the above, prepare a statement showing the profit or loss made by
him for the year ended 31.12,1988.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Calculate the payback period for a project which requires a cash
outlay of Rs. 1,00,000 and generates cash inflows of Rs. 25,000,
Rs. 35,000, Rs. 30,000 and Rs. 25,000 in the first, second, third and
fourth years respectively.

(b) dJournalise the following transactions in the books of Sri. T.N. of

Coimbatore :

1 Oct. 1987 — Commenced business with Rs. 50,000
3 Oct. 1087 — Purchased goods for cash Rs. 10,000
4-Oct. 1987 — Paid carriage Rs. 50

8 Oct. 1087 — Purchased machinery for Rs. 20,000

3 H 1544




{c)

(d)
()

(H
(g)

P, @, R and S are partners in a firm sharing profits in the ratio of
2:1:2:1. On Retirement of R, the firm’s goodwill was valued at
Rs. 45,000. P, Q and S decided to share the future profits equally.

What is the gaining ratio for @ and 57

What are financial statements? State its any two usages.
Calculate Liquidity Ratio :

Current assets : Rs. 50,000;

Stock : Rs. 10,000;

Current liabilities : Rs. 25,000;
Bank OD : Rs. 5,000

How does Cash Flow Statement differ from Fund Flow Statement?

Caleulate funds from operation from the following particulars :
(i) Net profit for the year ended 31.3.2000, Rs. 6,560,000

(ii) Profit on sale of Buildings Rs. 40,000

(i) Goodwill written off during the year Rs. 10,000

(iv) Old machinery worth Rs. 8,000 has been'sold for Rs. 6,500

(v) Depreciation has been provided on plant at 20% per year.
The value of plant is Rs. 5,00,000.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
()
(d)
()

®
(g)

()

What is Capital Budgeting?

What is Trial balance?

What is Balance Sheet?

What is meant by Admission of a partner?

X and Y are partners sharing profits in the ratio of 3:2. They
admit Z as a partner for 1/5th share in future profit. Calculate
new Ratio.

What is cash from operation?

Calculate the amount of goodwill at three years’ purchase of last
five years average profits.

The profits were :
I year Rs. 9,600; II year Rs. 14,400; 11T year Rs. 20,000; IV year
Rs. 6,000; V year Rs. 10,000,

What is IRR?
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H 1594 HC4A/
CHC4A .

B.B.A., LL.B. (Ilons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2016)
Qocond Year — Fourth Semester

COMPUTER FOR MANAGEMENT AND MANAGEMENT
INFORMATON SYSTEM (MIS)

Time : 24 hours Maximum : 70 marks

o Gy

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words. each;.

What is Electronic Spreadsheet? List the important features of Spreadsheet.
Explain any four financial functions supported by MS-Excel.

Discuss about Organizational need for MIS in an Industry.

What is financial EDI? Describe the workings of FEDI and also list the
benefits of FEDL.

PART B — (2 x 7 = 14 maxrks)
Answer TWO of the following in about 300 words each.

Explain the roles and responsibilities of System analyst.
Explain the various components of Decision support systems.

Describe the concept of Distributed computing and Client Server
computing. :

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Software Development Life Cycle.
(b) Functions of Business Process Outsourcing.

(¢) Discusson various components of DBMS.

(d) EDI Standards.




(e)

€3]
(g)

Absolute and Relative Cell reference.
Information System Audit.

Classifications of Computers.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
1
(&)
(h)

Any two Formatting tools in Word Processing.
Group Decision Support System.

Domain Name Systems

E-Governance

Management Information System

Write a note on Dynamic Worksheet.

Storage Devices

Indexing and Searching in DBMS.




Register No. _ j
H 1546 HC5A

B.B.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018. :

(For the candidates admitied during 2015)
Third Year — Fifth.Semester

STRATEGIC MANAGEMENT
Time : 2% hours Maxiﬁum - 70 marks

PART A — (2 % 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1.  Explain Michael E. Porter's Five Forces Model along with three generic

strategies.

9. Explain the steps/process involved in strategic development with

example.

3 Define functional strategy. Explain the various functional strategies in

an organization.

\) .
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Describe the commonly accepted principles of Corporate governance.

5. Briefly explain the model proposed by McKinsey and Company in the
early 1980s. '

6. Explain the types of business policies.

[P.T.O]
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PART C — (5x4=20 marks)
Write short notes on FIVE of the following :

(a) Explain the characteristics of mission statement il o

organization. _

(b) What recommendations would you make to improve the

effectiveness of today’s board of directors?

(c} Explain the strategic planning process.

(d) Briefly discuss the generic business level strategies.
(e} Compare and contrast SWOT analysis and portfolio analysis. I
(f) What are the qualities required for a successful strategic manager?

() Explain the role of the top management in Strategic management.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.
(a) Corporate strategy

(b) Social responsibility of business

() SWOT Audit

(d) GE matrix

(e) Competitive advantage

(® Insider trading

(g) Portfolio management

(h) Vision statement.

2 H 1546
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H 1547 : : _ HC5B

B.B.A. LL.B (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2015)
Third Year — Fifth Semester
FUNDAMENTALS OF MARKETING MANAGEMENT

Time : 21 hours : Maximum ; 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about.500 words each.
¢

1.  What is marketing mix? Explain various components of marketing mix.
9. Explain the new product development process.

3 What is meant by promotion mix? Explain its components.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4 Define the term “channels of distribution”. Explain the various factors
that influence the choice of channels.

5. . Explain the stages in consumer buying process.

6. Discuss the steps in setting up of a price.

PART C — (5 x 4 = 20 marks)
7 Write short notes on FIVE of the following :

(a) What is marketing research? What are the various steps to be
considered while an organization is doing research in marketing?

(b) What are the objectives of pricing policy? Explain.

(c) List out the reasons for a new product failure.

[P.T.0]
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(d)
(e)
Y
()

What is advertising? Explain its types.
Explain the process of personal selling.
Explain the characteristics of services.

Discuss the merits of Customer relationship marketing.

PART D - (6 x 2= 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
4y
(g)
(h)

Marketing environment.
Objectives of advertising.
Customer retention.

Differentiate marketing from selling.

Market targeting.
PLC stages.
Cost based pricing.
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 H 1600 HC6EB

' B.B.A., LL.B (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018,

(For the candidates admitted during 2015)
Third Year — Sixth Semester
PUBLIC FINANCE AND IT LAW

Time : 24 hours ' Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain Prof. Hugh Dalton’s views on the Principle of Maximum Social
Advantage and how maximum social advantage is achieved?

2.  What are the theories of growth of Public expenditure?

3. Discuss the provisions of Fiscal responsibility and budget management
Act. What are the principal objectives of fiscal policy in a developing
economy?

PART B — (2 x 7 = 14 marks)
Answer TWO of +he following in about 300 words each.

4. \)What is Public finance? Discuss the scope of Public finance.

5. Explain fiscal neutrality (or Principles of Equal distribution of tax
- burden system. :

6. Comment on the Constitution of India Seventh schedule (Art. 246) -
Separation of financial powers.

PART C — (5 x 4 = 20 marks)
7. . Write short notes on FIVE of the following :
(a) Role of public finance in the economic development of a country.

(b) What are the source of Public revenue?

(¢) Classification of Public expenditure :

[P.T.O.]




8.

(d)

(e)
()

(2)

Answer SIX of the following very briefly :

(@)
(b)
(©)
(d)

{e)

)
&)
(h)

What is Public debt? What are the reasons for incurring public
debt? :

Describe the functions of this Finance commission.

-

What do you mean by a budget and explain about the objectives of
budget. ,

Discuss the objectives of Deficit financing.

PART D — (6 x 2 = 12 marks)

Private goods ' : : F
GST

Double taxation

Public Debt management
Zero based budget 7
NITI - Aayog

Fiscal policy

Impacts of Taxes.

2 '  H 1600



H 1548 HDlC/CHDl(LJ

B.C.A, LL.B (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2017 onwards)

First Year — First Semester

COMPUTER FUNDAMENTALS AND OFFICE AUTOMATION

Time ; 2% hours Maximum : 70 marks

PARTA —(2x12=94 marks)
Answer TWO of the following in about 500 words each.

Describe the detailed view of half and full subtractor.
Explain filtering and how conditional statements are used in MS-Excel.

Define Computer. Explain various generations of computers in detail.

PARTB — 2x7=14 marks)
Answer TWO of the following in about 300 words each.
How charts, images and sounds are inserted in MS-PowerPoint?
Solve the given problem using tabulation method -
F(W, XY, Z)= £m(0,3,5,6,7,10,12 13)+%d (2,9, 15).

Elucidate — Counters in detail,

PART C-—(5x4=20 marks})
Write short notes on FIVE of the following :
(a) Compare encoder and decoder.
(b)  What is an error detecting codes?
() Discuss CRT monitor,

(d) Define template for a Word document,

[P.T.0O.]




(e) Mention steps involved in generating a report.

() Construct and explain Parallel In and Parallel Out Register
(PIPO).

(g) Define Sequential logic.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :
(a) Motherboard.

(b)) T flip-flop.

(c) Data bus.

(dy Paste special.

(e) Form design.

(f) Mail Merge.

(g) de-multiplexer.
(h) Clock pulse.

2 H 1548
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H 1549 HD2B/CHDZB

Register No.

B.C.A,, LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2017 onwards)
l First Year — Second Semester-

PROGRAMMING IN ‘C’ AND ALGORITHMS

Time : 23 hours Maximum : 70 marks

PARTA —(2x12=24 marks)
Answer TWO of the following in about 500 words each.

Define functions. Explain various classifications of a function with an
example. :

Analyze Breadth first search for a graph.

Define Pointer. How Pointers can be implemented in arrays, functions
and structures?

PARTB — (2x 7= i4 marks)
Answer TWO of the following in about 300 words each.
Why notations aré used in algorithm. What are they?
List aﬁd explain the rules for fofming identiﬁers.
Discuss on user defined data types.
PART C — (5 x 4 = 20 marks)
Write short ﬁotes_ on FIVE of the following :

(a) Differentiate between while and do — while loop with an example
each.

(b) What is an array?

(©) Why a data file need to be closed after use?

[P.T.0.]
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(d)
(e)
®
(2)

Implementation of a nested loop with example.
How flow chart is converted into a pseudo code?
State any five library functions. Give example.
Define BREAK statement with a simple program.
PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

- (a)
(b)

(c)
(d)
(e)
®H
(®
(b)

Can C programming help to store data - state how?

Define comments

‘Write the prefix for the following infix expression A+B*C/D-E.

Bitwise operator.

Compare linear and binary search.

_How_ to calculate running-ﬁme of an algorithm?
What is multi-edge? |

State the difference between if and nested :if;
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H 1500 HWD/HBBD/HA3D/HB3D/HC3D/
: HD3D/CHA3SD/CHB3D/CHC3D/
CHD3D

¥

B.C.A.,.LL.B. (Hons.)/ B.Com.,B.L. (Hons.)/B.Com., LL.B. (Hons.)/B.B.A.,
- LL.B. (Hons.)/B.A,, LL.B. (Hons.)/B.A.,B.L.(Hons) DEGREE
(SEMESTER) EXAMINATIONS, APRIL 2018.

(For the candidates admitted from 2011.-tc 2016)
Second Year — Third Semester

FAMILY LAW-1
Time : 21 hours Maximum ; 70 marks

PART A — (2 X 12 = 24 marks) ¢
Answer TWO of the following in about 500 words each.

1. TDescribe the history of the different schools of Hindu Law by pointing
out their distinguishing features. '

2.  Mention the grounds on which a Hindu, Muslim and a Christian wife
could seek dissolution of marriage under the respective personal laws.

3. State the requisites of a valid adoption with reference to the capacity of
. the person giving, taking and being taken in adoption under the Hindu
Adoptions and Maintenance Act, 1956 and also under the law prior to
the Act. ,
PARTB — (_2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.
4. State the grounds for judicial separation under the Hindu Marriage Act,

- 1956 and also point out the changes brought out by the Marriage Laws
Amendment Act, 1976.

5. Txamine the provisions of the Hindu Minority and Guardianship Act,
1956 relating to the powers of the testamentary guardians,

6. State the conditions relating to solemnisation of marriage under the
Special Marriage Act, 1954. What are the effects of such marriage on
members of an undivided family? :

[P.T.VO.]




Answer TWO of the following by referring to the relevant provisions of law -

10.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the foﬂowing g

(a) Sapinda relationship

(b)  Prathiloma marriage

 (¢) Marriage Registrar

(d) Deferred Dower

(e) Divorce by mutual consent under Christian Law

() Guardianship of property under Muslim Law

(&) Saroj Rani V. Sudarshan Kumar, AIR 1984 SC 1562.

FART I - (8% 6= 12 marks)

and decided cases. Give cogent reasons.

A marriage is solemnised between a Hindu Bridegroom aged 17 years

and a Hindu Bride aged 15 years with the consént of the bride’s

‘guardian in marriage. Decide its validity under the Hindu Marriage Act,

1955 and also point out the present position.

A, a minor Muslim girl, is contracted in marriage to B, a minor Muslim
boy by her ‘deceased father’s brother. Is A entitled to the option of

‘puberty?

A Hindu girl aged about 24 years marries her maternal uncle’s son aged
about 22 years under the Special Marriage Act, 1954. What is the effect
of the marriage?
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H 1551

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2016 onwards)
Second Year — Fourth Semester

PRINCIPLES OF SOFTWARE ENGINEERING AND SOFTWARE
TESTING

Time : 21 hours - ‘ Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Classify different types of testing techniques accordlng to the test process
activities.

2. Explain Software des1gn concept in detz—ul

3. Who should do Quality assurance? Mention the goals of software quahty group
and norms for formal technical review meeting.

_ PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4, 'S Elaborate Line of coding estirhation vﬁth example.

5.  Discuss bug fracking process. ‘

6. Explain thé concept Qf business process engineering.
PART C — (5 % .4 = 20 marks)

. erte short notes on FIVE of the fo]lomngs
: (a) Explain the work break down structure of the process oriented praject.
(b) Differentiate alpha and beta testing.
() What is refactoring? When it is needed?
(@) Fundamental activities of a software process.
(e) Whatis Path Testing? '
(i . Define stress testing.

g d ustrfy the statement “Software ma.lntenance is costlier”.

[P.T.0.]




PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
()
®)
(h)

Software risk management.

Classify software metries.

What is data dictionary?

Define control coupling.

What does level 0 DFD represent?

How to compﬁte the cyclomatic complexity?
What is the purpose of timeline chart?
Brief on Debugging.

H 1551
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; H 1552 HD4B/CHD4B

Register No.

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted from 2015 to 2016 onwards)
Second Year — Fourth Semester
RELATIONAL DATABASE MANAGEMENT SYSTEM (RDBMS)
Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1.  What are the different types of normalization that exists iﬁ the database
Design?

2.  Explain the different types of indexing in detail.
3. Describe the architecture of database management system.
PART B — (2 x 7= 14 marks)

Answer TWO of the following in about 300 words each.

4.  Elaborate Locking protocol.

o

Differentiate between procedural and nonprocedural DML.

6. What are the disadvantages of file processing system?
PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(a) Define schema.

(b) What are the components of storage manager?

(¢) Listout the desirable properties of decomposition.

(d) What are the properties of transaction?

[P.T.O]
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()
(f)

(g)

Give the measures of quality of a disk.

Write SQL statement to find the employee name with highest
salary. Employee(emp_name, dept_name, emp_salary).

Giive the reasons for allowing concurrency.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
®

(2)
(h)

What 1s a recovery scheme?

Define multi-valued attributes.

When is a transaction rolled back?

What are the drawbacks of shadow-paging technique?
Define join operation. .
Define garbage collection.

What is meant by Distributed Databases?

Brief on vertical fragmentation in Schema R.

2 H 1552
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H 1553 HD5A

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2015)
Third Year — Fifth Semester

OBJECT ORIENTED PROGRAMMING LANGUAGE-JAVA & WEB
TECHNOLOGY

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each,

1. Explain the concept of exception handling. How will you create your own
exception?

2. Depict the life cycle of applets. How applets are embedded into HTML pages?
Give the code snippet for addition of two numbers by getting Input in two
separate text box and the result in separate text box.

3. Explain Method overloading and Method Overriding with suitable example.
Can you overload operators in Java - justify.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4\) Write a Javascript to design a user login page for the social website.
5. Explain constructors and default constructors in detail.

Discuss event handling with example.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
(a) Differentiate between java application and applet Wlth example each.
(b) What is the importance of the HTML DOCTYPE?
(¢) Why Java is platform independent —justify.
(d) Define Interface.
(e) What is the use of “this” keyword in Java?
() Explain input tags.
(g) Define types of variables.
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PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(a)
(b)
(c)
(d)
(e)
48]
()
{h)

Define command line arguments.

‘How thread is implemented?

Website.

Abstract Class.

What is HTML?

Define super keyword.

Justify the need for client side scripting:

Document Tree
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H 1554 HD5B

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
' APRIL 2018.

(For the candidates admitted during 2015)
Third Year — Fifth Semester
COMPUTER NETWORKS AND NETWORK SECURITY

Time : 24 hours - Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each. |

1.  Elucidate the various types of network topologies in computer network. Also
discuss various advantages and disadvantages of each topology.

2. What is Congestion control? What are the causes of Congestion control?
Describe the Congestion Control Algorithm commonly used.

3.  Illustrate the concept of [P Security along with its architecture.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 360 words each.
4., Compare TCP/IP Model with OSI Reference Model.
5. Discuss the various multiple access techniques.
6. Explain the essential ingrediénts of a Symmetric Cipher.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :
(a) Go-Back-N ARQ
(b) Transmission Modes
(c) Public-Key Cryptography
(d) Electronic Mail Security
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Hash function criteria
Simple Transport Protocol
IPv6 Packet Format.

PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly.

(@)
(b)
(c)
(d)
()
®
()
(h)

Dynamic Channel Allocation Scheme.
Local Area Network. |

What are the issues in data link Iayer;?
Flags of TCP.

Digital signature.

Define security mechanism.

TELNET PROTOCOL.

Requirements for message authentication.
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H 1601 ~ | ' HD6B

B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
APRIL 2018.

(For the candidates admitted during 2015)
Third Year — Sixth Semester
INFORMATION SECURITY AND DIGITAL FORENSICS

Time : 24 hours : Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWQ of the following.in about 500 words each.

1. Discuss about the offences and penalties against all the ;mentioned
sections of the Information Technology Act, 2000. :

9. Elaborate on various Access control models in digital forensics.

3. What is Steganogi'aphy? Explain in detail about how this technolog'y is
used in the field of digital forensics?

PART B — (2 x 7= 14 marks)
Answer TWO of the following in-about 300 words each.

4. Explain IDS and its types in detail along with its advantages and
disadvantages. :

5. Define Cyber Crime and elaborate oh classifications and categories of
Cyber crimes.

6. Driefly discuss about the procedures for handling evidences in digital
forensics.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Who is a Hacker? What are the various types of hackers?

(h) What are the various types of Software Piracy? Explain its effects
on users.
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List out and explain about varioug digital forensic tools by the

practitioners.

Explain about various E-mail forensic investigation techniques.

What are the various challenges in handling evidence?
Explain SPM, MFM and STM.

- Discuss about the procedures for handling an Android Device.

PARTD — (6 x2=19 marks)

Answer SIX of the following very briefly ;

(a)
(b)
(c)
(d)

(e) :

®
(&)
(h)

Explain FTK Imager.

What is Known as File Filter? _
Discuss about the advantages and disadvantages of HPFS.
Define War driving.

What is meant by Copy right? !
Discuss about the disk organization of NTFS system.
What is a NIC? '

What are the various types of HUB and its function?




